Arruvt wJARG[?213m vy my [ JL1RrREBE " [1ur
620075, . [CObjteddBEZtes, [ EZdOyo:
Is j d O ¢ (B43) 388-15-00, 388-15-01

e-mail: optima@optima-ekb.ru

1 JLOadmd 30 gy @ @O BNKJ
BdBdzd slsj ¢,

fsHeo JHBMdMIse J dzdz" ~ [ d dzd Mis J t
4o JicHdZzZoa ME 2 B AZOMIS

sCIsw B tc!

2014
( COlsjted dzg bz te
oi] (M) JtddB0O, 2014

rdejChst


mailto:optima@optima-ekb.ru

g {rrtrolRr

(s{rRY[&#SR[ MOl ¢SU[IRHURSR Ruu[ [ ]

OLHJd& 1. Ji12zrRp 1 sodr1odur [ R

OLHjd&z 2. J[JAr1sd YrRubu[r [ CcfRrR R Cs
{sor1ovrfre sodovruwuvlod (o1 vz JRIJ

| — | Y

S

st Cwdbjtdie Wi jus gstps@dzpid srigd sls |

{Ud et © fsmjlsdlsydyBd MsHjtey Odd™ HJ

[Uj 0 {CMyjusOdkd MBH,j &y Oded™ HJ WIS

lToBH" Yt BAsCE ¢[yd dzC O MBH ] t6

I 5C Cwdlsjedje 2. [JMzemds; sBj mfj

{ud dzb Od f ysdg¥j &g o Miztemdese s 584 MY J UJ

(Ui &C0o {CMijesOo®R] ©]Mzemdscs &8 j m

lmeasH" 6 BdESE ¢ [ yduwgSdd e jHnjzMddnjdets cdsts

I Z5C Cwkdlsjedje 3. sohiselbdsmls! {6dy

(U] 2 0 ydhkOol] " 5] Cohi sklsdsmisd § 6

[Uj&C0 1CMijesOok] Cohiselsdsmisd {6

JToH' (6 BISCE CcsGhmiklsdsmnls!

1 dfs Stedlsjtedjo 4. [ shbskzfdtshms: i j

[y 20 ydlOls] &z" &k HGMisk] dsmisd § s

{ud et © 1M jtelsORd HBMszfdeshisd M

I T otsHT fts BdzsC bk ¢ tsflsky dats

I #5¢ Cwdlsjedje 5. [BhOW Gyj SO HJWIH

{ud dsd g sdlsj dzvdzd HJwWisg dz detsflsd B dB ¢

[Ujd@CO {CMyjelsOdkd Hj"Ilsj & dsmisd B4

lretsHT 6 BdztcCEZ c¢[BMFOW Yy, jd

fOLHjd 3. swtoélr (1R JAr1vLs ¥ 1

tOLHjd 4. t[(BUR1] JIJRIJRJU[S

tOLHjd 5. JTJRCUR[MT BUAROGFPRY[ #SRM
ANdbsuft ] 1osHAYJuervoRUL] B soY[HU
IRIJRJUT[ S




fruof{rryrgegsmét ¢sv [ { REVHIR [Rupa RC

[ oG Odzd LLAL]OL [uydffdkd MiIs j teMisets Ckdzt skzter w9 j toH C
{ 66 Odzd tdAN fsvdzdzd) IJ{dz'c A § dzlste e sydOdz! dz' = U j n d
ltejHd3d s dmMMmdrjyy Hz @dad®'O e OfBlds Is T BdBdzd slsj ¢,
[ddedmisjtemMlsolz SCkdz skzter ] oiz@o )6 5 dzv diws
MssBh jMsea O d fYbtejBdlsjdvdd EMmMdzkze ( ydlsOlk
dtetsCd (ol dzpergMswBtcy 2014 G.

[ jlssH MBtstcO dodfWiatstdmiz Ofyts(figf jddg dnlds jOdzj 24 tcg) H s Mis O
BdBdzdslsj COR), ®ydy 2 d LOBYydy 2 tftesfy + Cf
[Bl jd3 oanBtstcC d

o 242 sfMmjIsdilsj dzv. BdBdZdBISj ¢

YydMmds Gftet
fsmilsdlsy

4] cuojtoHdztso M OW B dzZOMIs( 62

S

Zdslsj SO dd3. 1. 1. 1 jdzddzm€ ts¢
S ctfoHjdms o MC OV 5B dzOMiIs dzZOW B d E 60
h ifmlse Oe

4] cuojtoHdztso MCOW B dZOMISC 60
dslsj C0Oe

uo( cdo jtoHdztso ME OW B dZOMIs ¢ 60

— c|w c|if c|mw c

el R R - R

r

iQmUmeBa

fjtcls [sdzy dets fyls 14, € frirfflsj Qdd<zGin

BOCHBIse Otcd Is © o] CIsstc dzOEZydzts?2 BdB dZ SIS §

0¢ 9 dzO tcOdz MCd2 ctsmMikzuOtmlise j dadz
doJjtemdlsjlsé

3
)
Iz

S
dz
S
| 4
1
¢C
¢ B
R )
] te

dh d dz0O 49 jlsdzo toj Cltste 4 jtojLBoaMEBE |
d

S
CotesHMEtsets SCtZEO", HiojH
Bzded ydiOds dis dzd slsj & s, Y
d4ts9 j SO

Ro Oh d dzO [ Oted dzO|dzj L O dfd dzr 2 + S M jtels tsimid
3 BdBddtslsj yds?2 dddse OkdSj (
MY j yStte ytedzOkz® ¢i1 dB dzd sl
SjHOd ddzj SMOdzH|M,j S to] sCestz) dede’ w5 L O § )OSt
Cbd Sktesdsddd

CsotsHdIsjdz2 BN jMlseo j dadats 2
JHEsMOW d-dggets 5O Y q fp pbzts d3
s c¢cfkddydf Odz desj ©BI jH
ls;ts@dzslztec

JCIstste | sdzOdzt dets?2 2Oz ydzts
AU

e

3

v
f
oz

ssd&zf O Cso0 [ d&zj &
z2jiddzO 1 OlsOdz! w

skHtwh s9 O | Odzd dz
gds. f jcotsets 1 tojL dHj dz
sstc BdBdZdtSIsj $d ULicOA

81 shtcddz0 | OOdz




.qu.la o) O]
mn%a UBW-@
x| > -~ P =
8 _ UBJO
% — D v NS
.|l NeB
20| SluB ,[Bo
QHT?Z.J.%..JG
88|v-|8leop|e
o Bloag
ww..GU.z.m.m,.SLJ
—ot| o N2 T
- O = rthIun%
— Ot G ‘T
048 a8 0.8 -
T oupz8Y
9 PaslafNag o
Eolu Elu|lEalu T
BNl - [2®
Bols8u8-Bass
O olo&E|o8NTH
0 ITT|I|~G|T O
o [Blo |z
o B |4z -
.% hop .myl .m
o |8 = |O
S 4 T K%
© O] O]
—h O]. ~
© ®
(o] = O]
O] 1) =2{0) ®
® 5 o8 %)
a |. |Oo |¥
= |9 S |T
8 |0 |e=.- ot
— s} I I<< (@S]
o 13913




t OLHjdz 1. J12zRrR[ VY [sdydUu[ [ R

(Moyd Gdpagisss Ow d ud MEdy - OOC s judy)dsdist)ddz]t
BdB dzdtsilsj ¢)

v OB ddf yo
l cdzso 5L tcOMiIsdets? MtsMmlsOe s tetsh j deder w
1 s
1017 | 1824 | 2534 | 3549 | 5059 | .00 lwommd
Mls Ot :
Y4 dzts
10 15 13 9 6 23 76
Jexyme s 4,1% 6,2% 5,4% 3, 7% 2,59 9,59 31,49
. 35 22 28 35 12 34 166
rd dzint d?2 14,5% 9,1% 11,6% 14,59 5,09 14,09 68,69
l 5 O 45 37 41 44 18 57 247
Y J dzts d3: 18,69 15,3% 16,9% 18,29 7,49 23,6% 100,09
v OB d yOo
] sdzseoa 52 MtsMis©e Y sMmjlsdlsj dzj 2 tsB dzOMmisdz =
ldBdzdslsj $ O 1 &5 BOf
1 dBdzd 51 dB dzd 15 9 yY4J d
qds. [wam wj uwpga 2950
1 J dzd dzfi & dztsh j
ZymMC 2 56,59 23,39 18,39 26,79 31,49
rj dh¢d?2 43,59 76,79 81,79 73,39 68,69
RISSG 5 100,09 100,09 100,09 100,09 100,09
v OB A Yy O
] BLicOMlsdzets? MtsMlsOe fsMmilsdlsj dzj 2 5B dzOMls dzr
ldBdzdslsj €O I 5 d30f
1 dBdzd 51 dB dz( 15 9 yd d
d d3. Hdzw H | w1 Jnglvavdz?ng
1 J dzd dgfn & dztsh j f
10-17 8,19 50,09 13,39 3,39 18,69
1824 41,99 11,79 6,79 15,39
25-34 21,09 15,09 18,39 13,39 16,99
3549 12,99 16,79 21,79 21,79 18,29
50-59 4,89 1,79 8,39 15,09 7,49
60 d MhlsOth 11,39 5,09 31,79 46,79 23,69
RIssG 5 100,09 100,09 100,09 100,09 100,09




U OB dAf y O

[BlcOLBSoOljd dg 2 MmsMsOs fwsmildljdj? B dO
I dBdzdslsj S O ) &
) dB dzd &)1 o B dzd 5 B3O MMd
&, | Hdw chou’ngBdf;ng‘? v j dts
I j dzd daff® dzsh j fi
| OUOdz dzsj 515 K NdgO) 5,09 3,39 1,79 2,50
[ Mdzse dzsj -5BT Q@M 8,19 31,79 5,00 504 12,49
| OUOdz dets] § tetsW g 1,69 3,39 5,09 3,39 3,30
i) Hdz) J ®IB1 jSjdz@ 16,19 13,39 10,09 233% 15,79
bt jHdzj J MJydodz 11,3% 6,7% 15,00 13,39 11,69
| J L OCsdeyd dedets§ o 0 0 0 0 0
L eho okl O) 16,1 8,3 6,7 1,7 8,3
I rmhdd (HIY dtd
33,99 26,79 55,09 48,3% 40,99
MYy d ydodzd ipls ©)
OcdMstcOk©O 6,59 3,39 2,50
 sMozj oL So MS 5 , .
HEC B0 iz0) 6.5 5.0 2,94
REGCE S 100,00 100,09 100,00 100,09 100,09
v OB df y O
usyd Od datsj o tf drtpj Jsahdsj dzj 2 B d&ZOMIsdy & B d B dzC
ldBdzdslsj €O I 5 d30f
J dBdzd 51 dB dzd 15 9 Y4 d
d d3. H dzw HJHJIJL%E&%E
I j dzd dzf] s dzsh j fi
] &zOH j dzj y W d tec §i3dz, 0 0 0
f 5]t de OIS | Lo il 08
N1 Odzv Isr 2 ddzHd o dH
e HBo 82 HjWl) d 11,39 L7 L7 3.7%
t S tsoBHdIy dz , L
tkzCsosHdlj d&zv 1§t 1,79 1,79 0,89
ytsd Y HJ ded W
i zSCtoHd] d&Z (1 11,79 5,09 1,79 4,59
v j yqOddmls 25,89 18,39 2179 16,79 20,79
bz} Oh g2, Isj n daed . . ; . ]
o drdad 5 | 8,1 3,3 16,7 8,3 9,1
i OB syd 2 1,79 3,39 1,2%
| JcOBBIOs h g2 (J 6,59 50% 25,09 50,00 21,50
| tcj o5 dedzs B j L 6 OB 8,10 1,79 5,09 1,79 4,1%
[ EBREAGBLYW2C0 6,79 11,79 4,59
zCBdz dzd €, MEDAZS 38,79 56,7 16,79 3,39 28,99
REGCE: 100,00 100,09 100,00 100,09 100,09




v OB dA y O

sOjestedd Mmilsdlsjdj?2 o B&OMIsd = B(J
ldBdzdlsj O 1 &5 BOf
Il dB dzd 54 d B dzd t5 1 dBdzg ® yd d
d d3. Hdzw HJl &[] CO H
J g dzd defr & datsh | f f gzq ’
I sistswWdade” 2 f s
B dB ddslsjCd 41,99 38,39 70,09 66,79 54,19
CfdLtsHdud MSd2 41,99 36,79 30,09 30,09 34,79
b dzz yO22dzr 2 fsiils 4,89 6,79 3,39 3,7%
I jtcor 2 tOL 9o 1l 11,39 18,39 7,49
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v OB dZf y o

[ Olbj ted Odz! detsj ttsdptgsiddzdijdzy 2 t5B dzOMmisdz" = B dB
ldBddslsi €O 1 s
1 dBdzd 51 dB dzd 15 dz0Mmmd
. | Hdzw H;uo(,[HHg'ZBdfsoéz‘j v s
1 J dzd dzfr & dztsh j f
[ Jdzj G dzi ~90OIOJ s 1,7% 5,09 1,79
L © dlsOdedj HJ daj G
"o OlOjls dzO ©SHj X HMY 4,89 3,39 6,7% 16,79 7,99
1 O IsCkfCE SHJYHT
"9 00 Is, dzts dzj Do 25,89 23,3% 28,39 38,39 28,99
I 4 dzj ¢ o ff siddzj dz@ o Ofs
Ciobf dgts? B' kso 52 M 21,09 21, 7% 36,79 18,39 24,49
| O detseo ze B3O Jdzz H 0 0
G dn) sy i ds f Lo 11,3 11,7 8,3% 1,7% 8,3%
[ Olsj ted Odz' dzg@ = L Olstg
(M lkr o0j &, g d 8,19 10,04 13,39 1,7% 8,3%
) Olstclz Hidzd EHAg dnj Is d Is - 29,09 30,09 5,0% 18,39 20,79
RIstG s 100,09 100,09 100,09 100,09 100,09
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[ ddzd sl tclilsdz’ Iskzter wo jtoH dzZco ME 52 BB &ZOMISJ,

e 31 Ctodlsjted? Hdw BYyjdbd Mt Misstetsder
e 43 Ctodlsjtedw Hdzvw 1 CMYfjlsdesets tsyj dzd 9 Odz
stcdlsjtedd BB jHddzjdz" o 5 Jtuvll 1 [sé)yodur]
l.utBH jtey Odedj] HJWIsj dz' desfisd BB AZIBISj ¢ d

2.1 dmMztemdzsy B MY J ubdafjsisyd fYlsj dz' desfilsd B
3. 8 s d3W s tc IHdiditidsug i drfdets 3 EZmdzz e d

4.1 sk dsmis: fsmihjddy BdBddslsjtd
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1.Ctedlsjted? dzj o' 0Oy jdzg dzj tej OdzdL zjsmw,

2.Ctedlsjted? MCttejj dzj o' Oy jdzs, ftesWe dw.
fisd §4dd oL Ezjlshw,

3.Ctedlsjed?2 MCBtjj o' tOyjds, fsWedv,lsh
fisd §ddd tioOkdLEzjlshw,
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1 dzs¢ Ctodbjtedjo 1. wtHjtey Odzdj HJ WIS
JUd 2¢O fsmMilsdlsj dvdid MBHJtey OddWw HJWIsjd

Y d el
sd M

Z O

tft’g' ls | giAs dgff 2 &l ot waf@dzgt j , § Sdi3sh ! B

1) { JIsq
tcOB 5 dfgSpazsds Of f OtcOlssdz, WtsdzHtsdZe: o' Mts

v OB dA Yy O

utslstozHdzdCd BdBdZIBISjCd Rtsteshts fBscOsls, o,
fl C OlsOdzts ¢ Od3dt], 5 difitf Steten "ty B f Ot Ols sd3, § dad ¥ dz
I dBdzd 5l j € O 1 5 BOf
Jquzqsuy‘quzgffJ 'y Ideadslsy® MY
r
1§ dzd dzfm§ s dzish i b fMdzd § r A
1 1,69 0,4%
2 1,69 3,39 5,00 2,50
3 19,49 13,39 10,09 16,79 14,99
4 75,89 86,79 81,79 73,39 79,39
1 OlstelzH dZ
skojlsd 1,69 5,00 5,09 2,9%
RISBGEfS: 100,09 100,09 100,09 100,09 100,09
bt j Hdgw W * 3,77 3,817 3,87 3,77 3,7¢

* djHdd?2 (GBCOLOL] & ©OMMUJSOd (6 Wekdzd] nNiej H djjs dosdg!
dzj Mtsc dzOMmdd M HOdzdz' 3 Eklse j ey HJ dzd J &Y 5 dxdzly pz' ) Eaef dz@ MPef §, Sy J gsD,
SYj &S O BdBRIEIjSq 5 HOMGEEKE Stdlsjteds. 1} s8SOLOk]d ©OMH

stRB] dlsOted? fsfjlbdlsjdj?2 ¢ ddLSddi tyj & o’:
e [ jJHCE, dets Br dzd daeydu jdzs' (sCOL o f sdsh

1C



b ok ®dgd fzv Omd d B dB dzg

2) I J 2¢O fmilkd [
Btstej € ded @, flsC Ow

Is § sz digff iz Gz telef df
MmMlsOlsj2e: or

etk dzdCd BdBddlsjCd dsckls HOl! (HO:l) It
fls 0l j 2
ldBdzdslsj § 0O I & d&Of
.IC[ dg st | 1 45 ®IS LBy ® UG
\ j ded dzy &| " He el d g fd
B dz]s h J fr]
1 1.7% 0,49
> 3,29 174 3.3% 10,00 4,59
3 21,00 25,09 15,09 16,79 19,49
4 72,69 733% 75,09 7004 72,79
| O 6k A ded ded M 3,29 5,0 3,39 2.9
TEYEE 100,00 100,09 100,09 100,09 100,09
Wie] HdgY W 3,77 3,70 3.7 3,6 3,64

sStodidzj delsOted?2 fsmjldlsjdzy?2 ¢ dedL SCdads sy de O3
e jfdzd dzj Mtesmdh:, MOBd doj Mo jlskzt s
1dBdzds5ls j SO HAZW fMdzjfr R

e CSEHO Bjttlz Sdzded, W Iboydsts L dzOs, vyt d&dz
e fdzsAts LdOsl M jydWdSk fdzjfr a

e tcOdz' N j BN dzs dzzyh j dzO OB tsdzj d3j dzls §

e MislstolzH ded C d @ISt thged¥ s L 2O Is, COCdJ € dzq
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3) {yjdCo ftsmjlsdlsjs®BHMnS sty ilsg deafdzd 5lsj ydescts W tsdzH
LOftesmMOd3 ydlsOlsj dzv (kzdzdoe j tmMOdz! detsfmls! , W kdzC ydsdzO
fMtcd Hdz] 6 ts

v OB dziPpy ©

sdeded, ktedOd , &asddstes jjc d,nisf sdadshls: ¢ hsslse j s
Jazls jt6j MOd3, W dssElkz LHjM! dgO2kd §w©OCkdyj

I B &ZdBlsj ¢ O 1
Il dBdzds| 1 dB dzd 5 30

qds. | wdey owmg|uffal 98Iy

) j dzd dafy| ¥ dash j H m

1 1,79 5,0% 1,79
2 16,19 6,79 5,0% 20,09 12,09
3 35,59 30,00 36,79 26,79 32,29
4 48,49 61,79 51,79 51,79 53,39
) Ols 6z i dzd dzd M) 1,7% 1,79 0,89
RIstsg ts: 100,09 100,09 100,09 100,09 100,09
g tcj Hdgv W™ 3,37 3,57 3,37 3,34 3,38

* dtejHdd?2 (sCOL O] d NEPmdguElsOotd Y dj dtpdiipdg? , dBtsy st ddzt=zd
dzj Msc dzOMmdd M HOdzdz' 3 klso j o) HJ dzd J BY 5 dxdzly pz' fn) Bzl dz@ iPef | tsfy J Hzle ©,
SYj SO Bdeddskjcd s HOdEEERE Stdls] td:). oSy als j2dz s s fish

sStodidzj delsOted? fsmjldlsjdzy?2 ¢ dedL SCdads sy dz O3
1 dBdzdtslsj CO dd&3. 1 J dzd dzmC tsG ts:

e BOMs Cdzde, YEtodrOdzse s ftejH| dzj dedets? s f
e HOMdzj S8 dzgj oMy, yYysts dqLHOjIsmw o MlstcOdzj, J
e HSdzGts WtsdzH dzO toj d3tsdzls §

o dzj C Slststc’ jH tfdecHO dfdivz Is, ftetsh j dz@21Isd ddzd € Izt
e nyYd sy Btsdz hj BodsctOW d2 dO Odze dzd2 M s d:
1 dBdzdtsls j SO Hdzw Hjlj?2 d ¥ detsh jflse O:

e BBOdZs Cdzde Yts CtOjojHjdz 8, dhmlsstedd vicOAzO
e BZOZs Mtsotej d3j dedes?2 L OtelzB j y des?2 dzdlsj tcOlslzter

1= 2 (A

BOds &BjIstsHdyYyd MEs?2 ddwj tcOlskzter Hdzv oM dls
BOdzs dOkzydts?2 dzdlsj tOlskzter

dzf HeMIsOlssydes § jtedsHdYUd MSdr Y EZtodzOdzts o
Bdzdtslsj SO Hdzw Mmdzj fr ~:

Cdzeded dzO f dzj dz€ O BYJ dz? dL dgtsh jdzr, EmMisOtej
BOdzs  ldzpR G to

dzi oefMmMicecHO JjMmls: Ists, ylsts dzkzy dzts

Cdedecd yofmlsts " dz0O kS OR", HBAEZEs YHOI! {tod
dzi s Cdzde s BtcO2 dztr MC € dzOMgHD { tots6 tc O d3a3
dzj s BjlssHduSd s deslsOd3 B te ©2 dzw

fiteiMisOdzd or fEMEOI! Cdzdecd O BOc ddlsts¥ 5d
Eyd dBhtsets ftosydlksodzO, 0O dtser - Cddc dzjls

p|

O.......Q‘...
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4) [yddSC o femjkdlsi fd BIdOL dafdzgfipld™ G datso dzj ded W W s
i Hdzj ¢ &
v OB dzifly ©
| BdecddtlsjCj jMusdsj k@bcas esd Jees s Sded e,
I B d&dBls]CO 1 5 &OT
1 dBdzd 54 d B dzd 15 9 yd d
qB. |Hdw Hj wf[ 'Liaw%ﬁ
1 j deq dzfi] dzsh j
1 1,64 3,3% 1,29
> 9.7% 8.3% 8,3% 8.3 8.7
3 45,204 35,00 28,39 3504 36,09
A 43.5% 55,00 56.7%4 4504 50,09
. O 6l A ded ded M 1,79 6.7% 8,39 4,19
REGG 6 100,09 100,09 100,00 100,09 100,09
TIT 3,31 3,47 3,57 3,33 3,41
* gtejHdzd?2 tsCOL Olsj d&z tcOMmMyudlsodz s Wisted3kzdzi ftcj H dejtf2ts daoiesq |
dzj Mk ZOM HOdsde o5 bLise jtexy Hj dadj B 1§ tetrdsta L € 2B S @ €tsd
sy 2¢O BdBdzdslsjCd 5 HOdsH®E Cttdlsjted:s . ] sCOL Olsj dz tc O

s tsd3d3j dzls Oted 2

fsmilsdlsj dzj 2

1 dB dzd tsls.j C1Q] dddslzin € s G s

o RBdzts@ 5 ,
g [ [ 1:
e BOzts dzts o
Il dBdzdtslsy €O
° d3®d213 dzts o
o BOdzts
W Odzls Omis d

e BOMzs dztso d dzis§

Yylsts dLHO]jIsmw

d dzts €
H dzw

q dzts €

fm

Czommdsd,

¢ d

dzO

&jfr o

Mo toj d3j dzdz’ =~
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5) [ yd def 0 { tsffjtelsfdsly jtgf®BiEmise s, EkHtseMmMsfsdnNfhEsatsy
Off OO, © Is. y. {1 dzj Shtotsdzdztsc s COlsOizse O e ornh

v OB dztRy O
[dzgj kZHBBdts fdz Ltsoa Ols! Mw COOdZscORd o 1 Ists?2 B(

ddzd MmOl

ldBdzdslsj § 0O 1 s
1 ds dzq:m‘)lsgJ qzjzgf!f‘j W[ f 1 c[deq’tsd3u®JmCEtg
1§ dzd dzmq s dzish j i b Hdzv fMd

1 1,7% 3,3% 3,39 2,19
2 6,5% 1,7% 6,7% 3,39 4,59
3 41,9% 30,09 28,39 16,79 29,39
4 50,0% 60,09 48,39 43,39 50,49
Y Ols to iz H dzd dzd ! 1,6% 6,7% 13,39 33,3% 13,69
RIstsg t5: 100,09 100,09 100,09 100,09 100,09
b tcj Hdgw W * 3,44 3,59 3,4( 3,5( 3,48

* dwjHA]?2 (GCOLOL] & ©OMMUdLOd 6 WStkdkzd] Me,j H djfls dousg)
Bj s &ZOMdj M HOdd & ke jtoyHj dd | 5 & &dgsizdzOted ) S O Lisg j &S @
5Yj &S O BdBdIljSd 5 HOGEEEE Stdlsjtds. 1 8SOLOLjd oMy

sStoddzj delsOted?2 fsmjldlsjdzy?2 ¢ dedL SCdads sy de O3
1dBdzdtslsj SO dd3. 1 j dzd de € ts¢@ ts:

e BOAzj dz' € d2 {1 dzj Clstesdeder 2 C OlOdzts@

o Mdztsy dzts dzO2 Isdj tazlz ) dzr 2 dets 3

1= 3 (O A I

COlsOizse tsyjdz dzgj HtsBdz 2, dzjls dGRdesedrn Wk
dzj oMjcHO ©OBBOjIs Isj tcdsd dzOdz

dzzy dets o] o9otsHdIls! o Y iMlsCts L OHOddks?2 {tf
1l dBdzdtslsj SO Hdzvw fydzj " A
e BjL Hod@shd dzgg MftcOodls: mMw, dzj t©OL B8BtOIs! M
o dzj zHtsBdzs © Mddzz WdL dui MSdr BetOdzd yj dzd 2
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6) JyddO §tsimjlisdlsjurdtisatsty jedpdzsfls! §sMjlsdlsj dz
LOftesmOe 9" hj Mtej Hdzj G 15
v OB dzi3y O
C omMieHO kZoattylk dL BdBddtslkjC¢d, f§ftdkzyde X J dzOj
ldBdzdslsj O 1 &5 BOf
Il dB dzd 54 d B dzd t5 9 Y4 d
qg. |Hdw Myl w1 'Lijw%ﬁ
1 J dzd ®Hzdf] & dztsh j
1 3,39 0,89
2 11,39 6,79 6,79 3,39 7,09
3 50,09 30,09 23,39 31,79 33,99
4 37,19 63,39 70,09 60,09 57,49
) Olstelz H dzd dzd My 1,69 1,79 0,8%
RIssG 5 100,09 100,09 100,09 100,09 1000%
o tej Hdgwvw>: 3,26 3,57 3,63 3,51 3,44

* djHdd?2 (GBCOLOL] & ©OMMUJOd (6 Wskdzd] MnNiej H djs o)
dzj e &ZOMdj] M HOdde o3 klso jtox Hj dzd j G5Y ts dedzty flz' ) Haf 2@ i | sy j bzl ©
SYj &S O BdBdRISIjSq 5 HOGEEKE Stdlsjteds. 1} s8SOLOk]d ©OMH

sStoddzj delsOted?? fsmjldlsjdzy?2 ¢ dedL SCdads sy de O3
ldpdzdtslsj SO dd3. 1 j dzd dzf € 5¢ f5::

e HOo dgts dzO0O toj BBsdzlsj, yYyOMmls! Cdzdc dzj o sL By dats
e Cdzdcd deOsdedzS OR, ftodraHdh! 5 daj MEBdzr €5 ¢
1dBdzdtsls jCO HdzWw HjIsj2 d ¥ detsh j Mmlse O:

e Ozt dzdIsj tcOlskzter fts orf Mh j i3z BBOL ts9 Odzd ®
g [ [ 1:

e dzj oMjeHO dOnatykz b, Yyt Atlsj dsm: BT

Il dBdzdtslsj €O Hddzw Mmdzjy fr =

e dzj LdzOs s s MY jydWdu MSdr Y EtedOdzOR (c¢cr dO

dzV1d3efts & jierJisdedejd YU fls Ols j dz' MC dn € da

NIy €0 fsmilsdlsy
WiMmMsdoOdzj 2, SCtdfbkztemtseae: o MsC OW

fl Oolststc O3],

v OB dzZthy O
l BdBdzd®Blsj¢d fsotsHdIsMY dBhtsets ttOL dssB ttOL dz' -

OolbsicOBd, StdSbkimss, Wjiflksdo Ody 2

Il dBdzdslsj C O 1 =30 ) )
1 dBdzd 51 dB dzd 15 9 yJ d
qds. |ndw W e[l 'Liﬁw%g

1 j dzd dzfi® detsh j T
1 1,69 3,39 1,2%
2 6,79 3,39 1,79 2,99
3 33,99 23,39 15,00 8,39 20,29
A4 58,19 63,39 60,00 83,39 66,19
1 Olstelz H dzd dzd Iy 6,59 6,79 18,39 6,7% 9,59
RIsts@ fs: 100,09 100,09 100,09 100,09 100,09
g tcj HdzaW W 3,59 3,61 3,61 3,88 3,67
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8) {uidt O fsmjlsdlbjd@dsffudicde’|pd@orste: o MEC OV

v OB dzthy O

| BdBddtlsjCj Mt dds StecOddL s shy ddisjt
L (B d&dBlsj <O 1 5 &Of
Il dB dzd 54 d B dzd 5 9 ygsd

qg. |Hdw Myl w1 ’ngfvdzfnﬁ
1 j deq dzfi]® dzsh j T

1 1,69 1,79 8%
> 3.20 8,3 6.7 4,59
3 27,49 18,30 20,00 1500 20,29
A 64,50 65,00 60,00 76,74 66,59
O 6l A ded ded M 3,20 8.3 11,79 8.3 7.99
R b5 5.6 5 100,00 100,00 100,00 100,09 100,09
TIT 3,6( 3,64 3,57 3,84 3,66

* dkjHdd?2 (GBCOLOL] & ©OMMUdOd (6 Wskdzd] MnNiej H djs o)
dzj e &ZOMdj] M HOdde o3 klso jtox Hj dzd j 657 ts dgdatshvhs ¢ dzipofredSj O Wiy tezysj odgSedy
sYj &S O BdBdRIEISjSqd 5 HOGEEKE Stdlsjteds. I s8SOLOk]d ©OMH

stz delsOted?2 fsimjldlsjdzy?2 ¢ dedL SCdads sy dz O3

ldpdzdtslsj SO dd3. 1 j dzd dzf€ 5¢ f5:

e Sl OdzdL 2B Ispw, dets dzaj oMJGEGHO ddalsj tej Mz §

1= 2 (A

e dzj oUnjdedelsj 6 Mdzr § o' MsOa & d (M WjHECJB] BOI
Is. . )

Yj &8 0 fsfmjisdls A S acdpjsy Grdzd Bl ydzs?2 ©OB Gl
©j MOd,-C dEDiffis’j o 5. H. ) &: o' hj MijHds ¢t

v OB dzZtby O
] BdBdZdtsljCj Hj2Mboksls @b jasish@@L dff 6 DKy
Clstste” j S OykIsMmw dsdej ddalsj tej de &zd

ldBdzdslsj €O 1 5 BBOfT
1 dBdzd 51 dB dzd 15 9 Y4 d
qqug o i; wyga LGB @dn

1 j dzd daf & datsh j " m
1 1,69 6,79 1,79 2,59
> 4,89 10,09 8,39 1,79 6,2
3 38,79 35,00 16,79 13,39 26,00
4 45,20 38,30 53,30 66,79 50,89
) Ols 6z H dzq dzd ) 9,79 16,79 15,09 16,79 14,59
RSGCEB: 100,00 100,00 100,00 100,00/  100,0¢
b (6 Hdg" W 3,41 3,3 3,31 3,7 3,46

stz delsOted?2 fsMmjldlsjdzj?2 ¢ dedL SCdad3s sy dz O3
1dBdzdtslsj SO dd3. 1 j dzd dgm € ts¢G ts:

e B'dzs B' ddzlsjtej Mdets tStcc OdzdL s9 Ols! 0Odze dzd 2 M€
1= 3 (O A I

e dzj BByddz OCIkdodets, dzjtsBrBHd®BE ©LOLO o Ols!
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10) [uyjdkto §ijlsdlsjduddydite disjotOdyd 2¢¢ @ o M j Mt H

v OB dzjfy ©
]l t©OBBIS] HOdzdzts? BB AZgESIs§ € ) tsdzimadZJJthﬁWts‘tdsdg

0CIsq
sBh jddvw d dqdWtstedidtetseo Odzdw f tsfmJ lsq’ Jdzj 2, f§tSHOY
fsHOYyd LOwWeatsC ( .

L {8 &dskj <O 1 & &Of
1 dB dzd 54 d B dzd t5 9 Y4 d
qg. |Hdw Myl w1 'Lijw%ﬁ
1 j deq dzfi]® dzsh j T
1 1,79 3,3 1,29
> 11,39 5.0 10,00 5,00 7.9%
3 35,50 40,09 20,00 2334 29,89
4 43,59 46,79 60,00 60,04 52,59
. OBl Hdzd dd M’ 9,79 8.3 8.3 8.3 8.7%
REGG 6 100,00 100,00 100,00 100,09 100,09
b to ] Hdgy W 3,36 3,41 3,51 3,53 3,46

* wtejHA]?2 (GC0LOSEABEZZEOMBUE kP& PEJE®G) 5 uj MC 52, idyes|didsts j
dzj Msc dzOMmdd M HOdzdz' 3 klso j o) HJ dzd J BY 5 dzdzly pz' ) Ezef dz@ iPef | tsfy J Hzls ©,
5Yj &S O BdBRISIjSd 65 HOREEBE Stdls s Hlj ks @lsQ sz dz 2 tc Gy

sStoddzj delsOted?2 fsmjldlsjdzy?2 ¢ dedL SCdads sy dz O3
1dedzdtslsj €SO HdzW HjIsj2 d v desh j Mlse O:

e otstsBh j dzjls detsoh jMlse L O mdzjuHdel j otecj dgw
1= 2 (A

omy Hd dd IstyJ

ftesyi mMm ity ~SHO dz2O 1 dzj CIstetsdzdz” 2 W tsted3Ols
Bdzdtslsj SO Hd&w Mmdzj fr =:

OCIsdodz 4 ' Judjrdf dOIsHtczed~ BdBARZIESISy ¢

o mMy-Mif ®tcd dz

dzj s ddzW stedzdtetso Odzgdvw 5 BB tesftedwisdw e 5 L

p|

OOOQ‘..

17



dz2¢ O f§ tsfj IsdIs jr defdsfizdiqisd sz telef Wj cdzfazzed ( €My t
o0dzedj d Is.f.)e: or MsC OW

3-H
Gv
&

Q_‘H

v OB dzBY O

C Bsck otMmitd Lo OBL gy i3d B 6§ tdedetizl p § gz dzr B3 Lk fiyczt
fts IsjzjWisdse, CfyjtoslCtsfdosoOdzedj, MSCOdzdtetso Odzd j
Mmoo dzj dzdj MYdMS O dzdlsjeObkzter o Lk

L {8 d&d 5] <O I & &Of
1 dB dzd 54 d B dzd t5 9 Y4 d
qg. |Hdw Myl w1 ’ngfvdzfnﬁ
1 j deq dzfi]® dzsh j T
1 3,3 5,00 2,19
> 4,89 6.7 3.3 1,79 4.19
3 37,19 23,39 13,30 1500 22,39
A 56,50 65,00 65,00 53.3% 59,99
. OBl Hdzd dd M’ 1,69 5,00 15,00 25000 1160
REGG 6 100,00 100,00 100,00 100,09 100,09
b 15 ] H g W 3,54 3,61 3,64 3,56 3,58

* wjHA]2 (GCOLOL] & ©OMMUdkOd §6 W Skdkd] Me, H djfs dousg)
dzj Mse &zOMdj M HOddy 5 klse j oy Hj dad j &Y ts dedals iz ) Ha dzO@ P | Sy j bzl O,
sYyj dzC O B dBHAdedes &l Fusdlsjedy . )} s5COLOIj d ©OMMudlsOdz Hdzv s,

sStoddzj delsOted?2 fsmjldlsjdzy?2 ¢ dedL Cdads sy dz O3
1= 2 (O A

o dzf MBBSEdZO BIsMEOddtese Ols! HEBE Ed] dzls

e otssBh j dzjls IsOCdr EmMdkkc
Il dBdzdtslsj €O Hdzw Mmdzy fr =&

e CMjtesC M yombss dzy ©OBEISO] IS
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{yd dz¢ 0 1+ S JtelsOd3d MBHJ ey Odzedw™w HJ WIS dz!

1) [yjdC O {¢M] tcliauss o jdafissotafjv g H j ey Odzd v : 2 iy dzkz c
or Ms¢ Ow
v OB dzZtPy O
I (B &dBk] <O 1 & &Of
qudzqsbgjqﬁjzgfffl 'y LB ® Y
W
1 J dzd dzfm ¢ s dzish i b H dz fnd
1 7.7 9.1 9,19 8,39 8.5
>
3 23,19 18,20 36,49 8,39 21,39
A 69,204 72.79 54,59 833% 70,29
TS 100,09/ 100,00 100,00 100,09 100,09
T R 3,54 3,58 3,36 3,61 3,54

HEjHBR]2 (GCOLOS) & wOmMMudlsOdsd,c dusigdsz daf L oBytedz IStz i dtsg
dzj Mse dzOMmdJ M HOdede" i3 klseo j ey H | dzd j WY sz fdz' M e zO@ QY | shyj 2k ©,
5Yj &S O BdBdIsljSd 5 HOGBEEE Stdlsjtds. 1 s8SOLOkjd tOMy

2) [yjdSOo MY tcldOlyds ddgjddsdjjtc df¥ B SteOYdo O csfls!
Wtsdzle®@ ftcj H dgw w
v OB dZ2Py O
ldBdzdslsj €O I 5 B3O
Jq’l_adzqislsgqufzgffJ 'y I dBdde ® U4
w
1 J dzd dzfm ¢ s dzish i b H dz fnd
1 7, 7% 9,1% 8,39 6,49
2 23,1% 9,1% 27,39 8,3% 17,09
3 53,8% 36,49 45,59 33,39 42,69
4 15,4% 45,59 27,39 50,09 34,09
RIsts@ ts: 100,0% 100,09 100,09 100,09 100,09
b tc] HdW W 2,71 3,18 3,0( 3,25 3,04

3) [yid€O Stwdlsjtcd jlECsdotalsitls] o B datsdo:dzj fumjvH dEvedzr

v OB dZfly O
1l @gdzdslsj & O I & BOf
1 dBdzd 51 dB dzd t5 9 Yyd d
qog. |Hdw Hj| @[ JngadZ?ng

1 J dzd dgfr ¥ dgtsh j f
1 18,2% 8,3% 6,49
2 23,1% 9,1% 54,59 16,79 25,59
3 61,5% 45,5% 36,49 50,09 48,99
4 15,4% 27,3% 9,1% 25,00 19,19
RIstsg t5: 100,09 100,04 100,09 100,09 100,09
oo j HdgVvWw: 2,97 2,87 2,55 2,92 2,81
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4) [yddc0o MY j tolsOaBd] fitldedes jWafdgtn & ) ssySd L tej dzd v
WldeC yd s dzO ! desflsd, € OC b b Btzi ges s g H dzj 2
v OB dZ2Py O
I e &zdslsj § O 1 & KO
qudzqtsLsg’ng'fvdzﬂtj i, |1dseds o 4 d
w
Jszq’dzﬁ]SdetSthn H dz fn dz
1 7,7% 9,19 8,3% 6,49
7 4559 16,79 14,99
3 46,2% 27,39 36,49 41,79 38,39
4 46,29 63,69 18,20 33,39 40,49
RSGCS: 100,09 100,09 100,09 100,09 100,09
b o) H g W 3,31 3,45 2,74 3,00 3,14

*etjHA@]?2 (GCOLOLj & ©OomMNMudlksOd §t Wstdkzd] Mty Hdy iy ol
dzj Msc d&zOMmdd M HOdzdz' 3 Bklso j ey v dzd § BY 5 ddzl§ fz' ) EHae dz@ 1Pf § tsfy J Hzle ©
SYj &S O BdBdIEI | Sd § 5 QLORUREHEZ EAdiddy@dz Hd sj o, Skt HOC

5) JyddeC O  CMY J tolsORY] fifldeodtds | tdafHvts Be Isth tsd MY OB dsts| dzts
OffOEOkO, o I. Y. | dz@eSlstets ddes dytsHOA Qdse O

v OB dZ2By O
L (B & Bk] <O I & &Of
Jqsdzqtstscj‘HgZ?vdzi‘f w[f, |1dscds o uJd
JJddeZﬁ]gsdztsthn Hdzv  fdg

1 77% 9,19 9,19 6,49
> 7.7% 9,19 18,20 8,3 10,60
3 23,104 36,49 50,09 27.79
A 61,5% 81,89 36,49 4179 5539
TS 100,09/ 100,00 100,00 100,09 100,09
TINE 3,34 3,54 3,00 3,33 3,3

6) Jyd dfoO Sy telaidpddzditddjlsydm@aw Ccts By § Isj dalsdetsfls!
YWisdzH O, MY WCoddnfda sets Of f Otc OO, & dakiz] Isidtisise @z
v OB dZ2fy O
ldBdzdslsj O I & BOf
Jdl;ddeISJJH?;Z?VdZiZS @[ Jq’dec{ts8 ud d
w
J;dzq’dzfr]QBdZBthn H dz fn dz
1 7,7% 9,19 8,3% 6,49
2 18,29 4,39
3 23,1% 27,39 27,39 16,79 23,49
4 69,2% 63,69 54,59 75,00 66,09
RIstsG 5 100,09 100,09 100,09 100,09 100,09
b tcj HdzgVvWw: 3,54 3,45 3,36 3,58 3,4¢
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7) Jyd €O MY J tolsOugl jClagiHdglg tcdtfj tMsdzOdzO 5 Miso ts,
zdlsj cOztedzsdzsz f tosyj MMz (L dz2Odzdj dLHOIj dz Mlse, ftc
tcj Csd3j dzHe@ydodr)h J Mtej H dzj 2

v OB dZ2by O
ldBdzdislsj O I & &Of
Jd'?dqulSJJng?vdzif g [ [ Jququ ° M
w I
J;dzq’dzfr]gsdztshcifn H dzv j th'dz
1
2 15,4% 27,39 9,19 16,79 17,09
3 23,1% 9,19 63,69 25,09 29,89
4 61,5% 63,69 27,39 58,39 53,29
RIstG s 100,0% 100,09 100,09 100,09 100,09
b toj Hdgvw* g 3,46 3,36 3,18 3,42 3,36

] Hdzd 2 (S OLOL) & ©OmMMudsOds fHsyY i i dsjj dan s i iy s ssg |
dzj Msc d&zOMmdd M HOdzdz' 3 klso j o) HJ dzd J BY 5 dzdzly pz' ) Ezef dz@ iPef | tsfy J Hzle ©,
sYj O BdBddsljSd 5 HOdBsKEE Ctdlksjttds. )} sCOLOLjd ©OMM

8)J yd dzs 1L e jtoclsOBds o v dilslgdtgd WS o0 dzd W d S Oyd g : MEsilstcfz+
ftej dz
v OB dZ2by O
ldBdzdslsj €O I 5 d30f
qudzqtslsﬂngﬁ‘vdzﬁtj STREELE: L ® uid
W
JJddez’ﬁ]g*fdztsthr] H dz fn dz
1 9,1% 2,19
2 15,49 18,29 18,29 8,39 14,9%
3 38,59 9,1% 36,49 33,39 29,89
4 46,29 54,59 45,59 58,39 51,19
1 Olstclz H dzd dzd fi 9,1% 2,19
RIsts@ ts: 100,09 100,09 100,09 100,09 100,09
b tc] HdW W 3,31 3,2( 3,27 3,5( 3,33

9) JyjdsSO ¢y tcluudgp djtdaplsyidgdirdzils ! MlstlzH dzd S e
flemMfjClsdo Ok MmO, EkMmdsedw dd Isas s ijshHER viho &

v OB d&ry O
I dezd5lsj ¢ O 1 5 KO
Jquzqtslsﬂng'fvdzi‘? 'y L dB g © Y4 d
J;dzqdzmsgdm”;‘r Hdzw  fd

1 9,19 9,1% 4,39
7 23,10 18,20 9,1% 8,3% 14,90
3 53,8% 54,59 63,69 75,09 61,79
4 15,49 9,19 9,1% 8,3% 10,60
) Ols 6z 1 dzq dzd f 7,79 9,19 9,1% 8,3% 8,59
REGCG: 100,09 100,09 100,09 100,09 100,09
B 16 Hdg" v 2,07 2,70 2,8( 3,00 2,86
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10) [ yddz€ O +CMYf jtceOBAdOEdHj R vse dyd M OW tcOB Sls
HSC dzZOHr, MOl d, BE dzdzjIsjded (9® Is. y. o {1 dzj Clstetsde
s BO orhj Mtcj Hdaj?2

v OB dZ2By O
ldBdzdislsj O I & &Of
Jqsdzqtstsg‘HgZ?vdzﬂ‘f wif. |1dBeds ® uid
J;dzq’dzfr]gsdztshcifn Hdzv fdz

1 8,39 2,19
2 23,1% 18,29 18,29 14,99
3 15,4% 27,39 45,59 16,79 25,59
4 61,5% 54,59 36,49 75,00 57,49
RIsts@ s 100,0% 100,09 100,09 100,09 100,09
Hicj HdgVvWw* 3,3¢ 3,36 3,18 3,58 3,36

HBJHBR]2 (GCOLOS) & wOmMMudkOd §6 W skdzd] MnJ H s doisg!
dzj s d&ZOMdj M HOdzde 8 klso jtex Hj dad j BY ts dedlgty flz' ) tezef @ 1 § sy j bzl ©
5Yj &S O BdBoIIjSCd 5 HOGBEBE Stdlkjtds. 1 SOLOk]d oMM

11) {yj o ¢ Mfgdelf @@ dfcPlgdy d E2yoOmisdy o or Ml
or MsOECOD ' MsC OW
v OB dZ2Py O
1l dBdzdtslsj €O 1 5 O
qudzqstsg‘ngfvdzi'f wpg, |1dsds o uJd
w
JJddeZﬁ]gsdztsthn H dz fn dz
1 9,19 8,3% 4,39
2 7, 7% 18,29 6,49
3 YL 9,1% 45,59 16,79 19,19
4 84,6% 81,89 36,49 75,00 70,29
RIStsG s 100,0% 100,09 100,09 100,09 100,09
b tc] HdW W 3,77 3,64 3,18 3,58 3,55
12) [yjdC O +EMYfjteb@izd jtgdddjtody Mdo Odzj 2, Csdellz
CedaW j toj dzy d&2: do rismtfC Ow
v OB dBPy O
1 dBdzdslsj €O 1 30 ) fi)
qudzqtslsg‘ng‘fvdz‘i'f wpg, |1dscds|® v d
w
Jszc{dzfr]EdeBthn H dz fn dz
1 9,19 8,3% 4,39
2 7,79 18,29 6.49
3 7, 7% 36,49 10,69
4 84,6% 90,99 45,59 91,79 78,79
RIStsG s 100,0% 100,09 100,09 100,09 100,09
b tcj HdW W 3,71 3,73 3,21 3,75 3,64
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13) [yjdC 0O MY tohk @it tcZOd) ftfsutad®L 50 Ols j dz! dzOW

(ftesMmo jlsdlsj dz MCOW) tOBBO {ddgl SpdiOdgditsjdzdzsijt tc O ts
Codzlzdz’ sOIsd o detsj  tB: fiy dal yfptoSORld j )

v OB dz8fly O

ldBdzdislsj O I & &Of

qudzqtstsg‘HgZ?vdzﬂ‘f wif. |1dBeds ® uid

w
J‘dzqdzfngtﬂdztshcifr] H dz fn dz

1 9,19 9,19 8,39 6,49

2 7,7% 9,19 4,39

3 15,4% 18,29 36,49 8,39 19,19

4 76,99 72,79 45,59 83,39 70,29

RSG5 100,09 100,09 100,09 100,09 100,09

T EE 3,64 3,54 3,14 3,61 3,53

HEjHAR]2 (BCOLO0k] & ®©OMMudlsOd (6 ¥ SkdEd) MnjH dis dousd)
dzj Mse dzOmdJ M HOdede" i3 klseo j ey HJ dzd § WY 5z fz' M e zO QY] sy 22k O,

SYj &S O BdBRIEI|jSqd § ) BOGBIKEES cf@HguglsOd Hdv Isjn, Skt |
14) [yjde€oO ¢ mq;mh%@d@ﬂsdbmm‘{slga OBl ( dded
fesjClsr, §E6cE0dd ®j: Is BH " fi) 5 CCOdzls OC Is T )
v OB dBRy O
ldBdzdslsj €O I 5 B3O
Jq’l_adzc[isls'JHchv?Zq:Sf wpf, |1 dBEds o uid
W
) 4 dzd dzfn s dzish j Hdzv oz
1 9,19 8,30 4,39
7 7.7% 9,19 27,39 10,60
3 15,4% 9,19 27,39 12,89
4 76,9% 72,79 45,59 91,79 72,39
REGCE 6 100,09 100,09 100,09 100,09 100,09
T R 3,64 3,45 3,14 3,79 3,54

15) [@iud&my j tols Odsd atddsly JBOds] uges s, § dzOdetso tsyls
OolssiOBd, dqLHOI] &Y dd, kosteyj S ddd ddls o sdicd
ftej Hdzj 2

v OB dZBBY O
I e &zdslsj § O I 5 BOT
Jqsdzqtslsg‘ng‘fvdz‘ff wig, |1dBags o udd
Jc1o|cho|zfnsBdm”%j Hdw

1 9,19 9,19 8,3% 6,49
7 15,49 9,19 6,49
3 27,39 63,69 33,39 29,89
4 84,6Y% 63,69 18,20 58,39 57,49
RSGCS: 100,09 100,09 100,09 100,09 100,09
o] HdgW W 3,64 3,45 2,91 3,42 3,38
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16) [yjde€O 1Sy jteh@dfddddsicd zgoOfnsdy o ¢ tdfk:
fsduj dd) cwodlssod: fogjhdgd 2 tefj Hsdzjf2

v OB dZBfy O
I dedzdslsj €O 1 & BOf
Jc{dedtslsJJHgZ?vdzﬂt.S wpf, |1 dBEds o uJd
Jszq’dzfnSdetshJ?n Hdv

1 7.7% 9,19 4,39
> 36,49 8,39 10,69
3 53,8% 36,49 45,59 41,79 44,79
4 38,5% 54,50 18,29 50,00 40,49
RSGCE 6. 100,09 100,00 100,09 100,00/  100,0°
TR 3,24 3,36 2,87 3,42 3,21

HEjHB]2 (GCOLOS) & wOmMMudkOod §& W stdzd] MNtj H djts dousdg!
dzj MEadgO ) HOdzde" 3 Bklso jtex H j ded § d3, SIUitddzdzsded LifEEYdzOEMN( i dzShP  Klsted
5Yj &S O BdBdIBljCd 5 HOGBEEE Stdlsjtds. 1} sSOLOk]d t©OMy

17) JuddCo +CMmYJ clf @3] dag g s §f tc d flapdeticg Oaqfd 5 dedz" o34 |
tcOB e o7 h j Mtej Hdzj 2

v OB dBby O
ldBdzdslsj €O I 5 30T
Jqsdzqtslsﬂngﬁ‘vdzﬁtj HIIJJCdeZCHSa ud d
JJddez’ﬁ]g*fdztsthr] Hdzv fMmd
1
2 15,49 9,1% 27,39 8,3% 14,99
3 30,89 18,29 36,49 8,39 23,49
4 53,89 63,69 27,39 75,09 55,39
Y Ols te iz H dzd dzd fi 9,1% 9,19 8,39 6,49
RIsts@ ts: 100,09 100,09 100,09 100,09 100,09
b tcj Hdgv W 3,38 3,60 3,0( 3,73 3,43
18) [yYyjdeC O 1 CMYf jtceB®RY jSCEwgstcd® dzg B d B dzd ts5s j y dats 2
s.Ba:)erhj Mmtcj Hdzj 2
v OB dBby O
1l dBdzdslsj § 0O 1 5 BOf
JdBdZdBlSJJH?;Z?VdZ(iT W[ JdBdZCflSa ud d
w
JszddenngthJm H dz fn dz
1
2 7, 7% 9,19 18,29 8,3% 10,69
3 38,5% 36,49 63,69 25,09 40,49
4 53,8% 54,59 18,29 66,79 48,99
RIstsg t5: 100,09 100,09 100,09 100,09 100,09
b tcj HdW W 3,4€ 3,45 3,0C 3,58 3,38
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19) [yjd€S o {CffjtcbRBdstadEse Qs MnNSfiEss 53 Hj &
EHJ o) Odedd uells Ofigtg pzd v v
v OB d&B7ry O
I {8 &dskj <O I & &Of
Jqsdzqtslsﬁng'fvdzﬂ‘jH“J L qBdqs|® Y4d
Jszqdz'ﬁ]ngztshlsjsfr Hdzv fMdz
1 9194 9,19 8,3% 6,49
> 30,89 45,59 19,19
3 38,59 5459 18,29 33394 36,29
A 23.19 27.34 18,29 50.04 29,89
0 6k H dzq ded 7.7 9.1% 9,10 8,30 8,50
REGG 6 100,0° 100,09 100,00 100,09 100,09
TINT 2.0 310 2,50 3,36 2,08
" wBjHR]2 (GECOLO6] & BOMMUJSOd 6 ¥eedrd) Mej A Eis dousg

dzi M5 6 &zOMd J

syd dz¢ O

)

HOdzdz" d3 EkIso j toy H j ded j BY ts dzdzls jz' ) Has dz@ P j sy j Bz ©,

B d B dalfdstis@BE S W dSls Hi©Od & .
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1 smdIsdlsj dzd :
l.uvtctse j dz FHtso dzj so Btej dedesisd f sMmjilsdlsj dzj 2
HdWliIsj dzi alzsfijis@d 2, dzOr sHJ ISP od L ddO yal sladdys
2.1 OdB 5dzj j or MsCts tyj dzgj dedz" | f OtcOd3] Ister
BdB d&zdtsilsy ¢ d:
e CsdzmMbkzdz sJteso Odzdy yYydlsOlsjdzj?2 (s ¢ SHBI
s. §.),
e ftoso JHJjdd] yYydbOlsjdz mMCdm G tsda j t6§ dzyd 2
o StcG OGaffL O " MIsOo ¢ .
3.1 8C0L Olsj dzd , 9" LT 908h dj dzj Cslstster j L Od
MowL Odzr M MsmMisswded &3 d BB detso dzj dad j d3 W 51
414 SBlsster | LOBlzHdz] dedWvw EZ yYydlsOlsjdzj?2 o7 L
dzodzd ydv ¢ dakzs e { & dfodgdifie) MOd3, BOMIs] te
o ftsdzy L s Odzd W TC EB%0 s & © iz dzdz’ - L Olstclz H dac
(BYJdHO] B, Yylkts o BdBAZqtSIsj Cj HAV Mmdzj
ZOdzd ydw o BdBdZdtlsj ¢ Jji 12 sddzd s j dz¢ dzr -
e ftoso jHj Y ydlsOlsj dz MEdr ¢ B, tcj dzydw,
l tod 1 Issdz dzOdB sdzj § d dzif 1§ joc d3q tootst® Oty Qi
fsmdlsdlsjdzd BdBddlsj €d dd3. 1 J dzd dzmC ts6 5.
51 Btsdzr hdqdzmlsoak § OtcOd3j stetseo tsyj ¢ d ydls
BdzdL C€d. [diBilsdd Bsdzjj or MsCdy tyd dzf d
mMdzj § * 7 t©OL dzd ydzr = H s 5 dadzadHSQ ddrzlzE Iz g jtotsH J
dzj MC sdz! € s fmded 3 J dedzlz ® syd dzf Iz ZHtso dzj Is
(Tt HBMISO9 dzj dzdW dzg SBrBHJ @S2 dzdls] tOlskzts!
6. | Yy dzsdz ftsfmilsdlsyi dzd BdB SIS & dd3. 1 J
sMisOdzy dz" 7. L OsjBosddy ji oftdsi iyl BGlefjjdzj 2 o B
fpdzg § 7 = .
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CCMiy j telsr :

l.utctse j dg syjdeSd S jtclsOdRRd MbsHj oy Odad W
orhj MtcjHdzj 65, dzOR 88H PBls figf. o4 Lods@ Wsdpdiyr = 2
21 O0dBtsdzy 4 o' MBBC BB BBy dad 'L OfdPte @34 ster , § Sk
e ftoso jHjded] &3 WiMmMlsdoOdzj 2, CtdeW jtej dzyd?,
ZyoOmlsdj &3 d BttcOdzedL Oydj? o' MisOo ¢,

d de% stc BOGFdteddztts 9 Ols j dz! dzts?2 H jWIsj dz desfls &
dded ydOlsdo dz" &3d ftetsj ClsOdi].

3.1 Bsdz M ddzilse kz f5C OL Olsj dzj 2 sy j dz§
[ 41d20ydsdzOdz! dzgs? B dB dzd Slsqeded 5IsigdS.d . Ud B
4. 1 ted ByjdeCj HjWIs]jd desfplsd MtsHjtey OdzdwW H
dzdL $dj ByjdSd M jtelsr fMmlsOoaddzd 60O
et jtcOIsdo dzsisd tsBdztso dzj dzgdwvw W isdzH 59 ,

e sftsdzdzj dzgdj d ©BELOh Oj BsMls! WisdH o,

e COyYJ Mlsoats WisdzH O,

O OS] bkHtSodzj sotswlpizizsRidg BiEkzehk d dzdgky s4d
tetsfls O.

5.[ B sedidz | Sy deCQizdzs 3z B dztsC 2z k2 L C Y jtelsse
6.odzj HizjIs tsls d3jtisedise N, j dagls) sty ) dzézp &3z B dzts € |2
BdBdzdBls jj U dzC © d HjIsHOPH sBEH 826 6426 tc I dats ¢
Bsekls dzezyhjy tyjdde Ol! mMw twOLdr j BdBdzd
1 CMmYf jtelsr odHwWIls ftojdizh jmMsets o t©OBKGIS
MslstelzH dzd € O3] , 9deJ Hicj ded d d dzdztso Oy d s dadz" =
b dgtsh | bo Dstotsh | 3 -igffigpO B gdgs OFf f OtcOlsj, € C
BdBdzdtlsy ¢4 dJdI sldjjadams sHemnls BOIs d ydas

OQolsstcORBId d dL HOddWw di3( .
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v OB dBBY O
4o tSHdZOW IsOBd&dqYO tyjdtd tomilsdlsj dvdid tB dzOMIs
fMtsH jtey Odzedw HjWIsj dzt desfhplsd BdB dZdBBIsj €

1 dB dzdht® 1 dB dzd 51 1 s
qas. | wdw wjbuggaly GnClY sonnd

1§ dzd dgfn| & datsh j fls 9 yYJd

iz dz' sdtetso O

Zdtslsj ¢ Otew g
OoHBdESC 5o " ( 3,72 3,87| 3,82 3,72 3,78

cOIstsdz, W tsg

Edz' Isdtetse O

dzH O
33{; Isaj gqy]gijlg s 3,72 3,72 3,72 3,62 3,69

fls Ols j 2

Hidedd ydl
| 64 dzyd 2 §
Oo st OB, J iy I 3,59 361 361 3,88 3,67

Csdl Eteftso

Nl P gV OOV
e g d Ss=ad
gF Swnglago
Tl QagdFI O

Q—. Q—.

1 0dzdydy o' MlsOg 3,60 3,62 3,57 3,84 3,65

[ 54 sdzded Is § dz! dg" | 3,52 3,61 3,65 3,56 3,58

U H o dzjtely adzdzts i Is -
Is j dzj 2 Jtelsgr {f lscEdz,J d 3,26 3,57 3,63 3,51 3,49

sOyjmlseats, BkHTSE

tc © 9 - C 59 ts¢
35 il @tsgggm o Is. 3,44 3,59 3,4 3,5 3,48
1 dzj Clstetsdgdets G 15
A st d3gr 9 dzj B d B dz(
tc OB isls r $0d 3,41 3,34 3,37 3,74 3,46
1 Odzd ydj datse Oy 3,36 3,45 3,51 3,53 3,46
 cOIlsd o dats s ¢
é i‘éZH o d M 3,31 3,47 3,52 3,33 3,41

OyJ Mlse ts B d B dzq

sdzH O, MmMstslso j I 3,32 3,52 3,37 3,32 3,38
Of esMOB ydls Ol

S

W

L

[ BBBBN j dzdzOW sy
ydlsOlsjdzj?2 o vy 3,48 3,58 3,56 3,60 3,55
BdztsC k&

29



v OB dBPy O

d4oBAdZOY IsOBddyoO tyjdfd 1 SMfjclsORBd § OtcOdj stctso
chdeq’ISJq’decftsHi:[chdeq’ 1 ts
d «3. HdzW HJ ) CO H| di3OMM(
1 J dzd defy & dztsh j fy fpdzj f 19 ygjd
ltesojHjdedd WJiMmilsdoe
CdzS bemtso | C s dzW j to 3,77 3,73 3,27 3,75 3,64
JteOdzedL Oydw d Eyof
prUdy & fsjClOn, 3,77 3,64 3,18 3,58 3,55
ttsslse jIsMmiseadj MBHJ
fls O dzr Ot ls O ds 3,54 3,55| 3,36 3,67 3,53
RdzW Stc BOYH Blz@zstso Ols
COB sl O 3,69 3,55| 3,18 3,67 3,53
Rdzd yd Olsd o dztsfils! o 3,69 3,45| 3,18 3,75 3,53
Il dBdzd slsj ydzOw ¢ tsad3ff
f ] 6 dzO &z 3,54 3,45 3,36 3,58 3,49
{Metsjdzdd d odaj Hic]
q dzdzts Oy d 5 dzdzr T Bj Is 3,38 3,60 3,00 3,73 3,43
1 OzydzOw d BJ ssH Yy
fslstezHdzd S ts9: HISE d 3,38 3,36| 3,18 3,58 3,38
BY dzdzj Isjded, § jtej HO
g dMmlsj B3OS ydzsls: ,
oLOdABBsH I 2AMIsadw M
JLHOL] dv dsd, lso iy 3,69 3,45 2,91 3,42 3,38
stz tedz’ diq 5B JHddZJdZ
1ol j Wisted dzj B d
OB IS (deIZBf d s 3,46 3,45 3,00 3,58 3,38
St jIsj dalsdesfyls! f §
o ldkg ksl ddls | 5Ok 3,46 3,36 3,18 3,42 3,36
lsorhjdedd CoOdzdWd
Msls ol n dzd & O dgd 3,31 3,20 3,27 3,50 3,33
sOyjmlsets, BEHtBMIS
f5dMCsotscts Off OteO 3,38 3,55 3,00 3,33 3,32
tdLEdz sOIsdo dztsmls
CdeS ZtemOT, § sdzkzuj 3,23 3,36 2,82 3,42 3,21
f 6 d3ds?. 4d.
sOyd mMsots WisdzH O M
Izdchac;tefr](DdzJ dzs s d , 3,31 3,45 2,73 3,00 3,13
Wikd€ ydtsdzOdz! detsmis d,
] s sdzdzd dzd § d BBtGO
BB dzd Bis UdgsE s s d 2,77 3,18| 3,00 3,25 3,04
ltetsdztsdzddtgtsa@dzdzt'SJ
2,92 3,10 2,50 3,36 2,98
Hydedd , BkHJ toxix)add]
VHBo dzj Ise tstcj dadzts fiyls ¢
stczHtsdz, f jtefmyd jClse 2,92 2,70, 2,80 3,00 2,86
odwadd ety MEts?
[fjtcOlsdo dzsfyls: tsB oy 2,92 2,82| 2,55 2,92 2,81
[ BBBN jdzdzOVY sy dz€ O
Yjds® 5 Bd&sSE: 3,38 3,37| 3,02 3,45 3,31
{BBBN ] ddeOY BYJ O ud 3,48 358 3,56 3,60 3,55
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1l dzs¢ Ctedlsjtedjo 2.
BdB dzdtlsj

{Uyd O fmildlsj dvdhd tjmkzehdses B MY
BdBdzdtslsy €d

12) [Yj €O ffmjisdis [ disaedspgdy tss Odzdg & HEE b
(fddslsj Shlssor j  cwO¥dujmed YsEdOlr )e: orh |
v OB d#4Py O
1B ddjC0 fjrthMsOodvjls hdlssd? H B L ds
Cofdqwad Cdzde, MOlj2, COwldd d Is.
W] Hdg W I B ZdGE] & O 1 5 BOT
L dafdslsj ¢ Jng'fvdzﬁtj STREELE L ® uid
JJqudngdetshcjfn Hdzv fdz
1 1,69 5,09 5,09 2,99
> 8,19 6,74 5.0% 1,79 5,49
3 37,19 35,09 16,79 8.3 24,49
A 43,50 41,79, 41,79 28,39 38,89
) Ol b H dzd dzq M 9,79 16,74 31,79 56,79 28,59
TS 100,09 100,09 100,09 100,09 100,00
TN I 3,36 3.4 3.3¢ 3,36 3,3

HEjHBR]2 (GCOLOS) & ©wLOmMMudlsOd (6 W stdzd] MNij H djs dousdg!
dzj Mtsc dzOMmdd M HOdzdz' 3 Eklse j ey HJ dzd @Y s\ J dif 5 DL Q v s Yzjlsdati Qe
SYj &S O BdBRIEIjSq 5 HOMGEEKE Stdlsjteds. I} s8SOLO]d ©OMH

stz delsOted?2 fsMmjldlsjdzj?2 ¢ dedL Cdads sy dz O3
ldpdzdtslsj SO dd&3. 1 j dzd dzm € ts¢ ts:

e 5 B4 Ijd3d dzils

e nlsjdzsm! Br fod LBO@B' My, dt yj d

1= 2 (O A

e BYJdz dBOds tsydWtese Odgdz" = dL HOdzd 2
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{yd dz2¢ 0 §tsijilsdlsf ddzfdu dsite pls jztajde’j e j ded d HisMiskzy
ste 3Oy desirdzisd sls j ydzr @3 ted Mt O3 (sdzedc OWtsdgH, | (
ne, -Rdftc@tc. ) é: orhj MmMtejHdz Gt

Esv

3
dz
n-l i

o«ar

v O ByiAfl
Il BdBdZzdtslsj$Cj ttcOddLtsoaOdz HsMiskzy ¢ -B8@B dzd 1|z ugdz
o MmO (sddcOWsdH, | Ql i bl i oezddg defhh@sj. 9 MG

{8 &dljC O I & &Of
Il dB dzd 54 d B dzd t5 9 Y4 d
qg. |Hdw Hjl w1 ’ngfvdzfnﬁ
) j deq dzfil dzsh j A
1 1,69 3,3 1,79 1,79
> 3.20 6.7 5.00 3.7
3 33,99 28,39 23,39 10,00 24,09
A 50,00 46,79 35,00 26.790  39.79
O 6 A ded ded M 11,39 18,39 33,39 61,74  31.09
REGG 6 100,00 100,00 100,00 100,09 100,09
b 15 ] H g W 3,44 3,44 3,34 3,61 3,47

* wjHA]2 (GCOLOL] & ©OMMUdkOd §6 W Skdkzd] Me, H djfs dousg)
dzj Mse &zOMdj M HOddy 5 klse j oy Hj dad j &Y ts dedals iz ) Ha dzO@ P | Sy j bzl O,
s5Yj dZC O B (B ddzslsps ¢ tffts je@dz. ) 5COL Olj & ©OMMudlsOd Hd&v Isj ¢

14) [yjd€ O fimjlsdlsjudisddnlshisd s seds ogky j Bdsmls: , Wb
mMo2ls0e: orhj MmMtejHdzj Gts

v OB dARY O

H4O2Istsd3 BdBdzdtsls i € d EZHBBdzs  tsdz! L 59 QHf dgPW, ddd@l toiix)d
I B dzdGlsj S O 1 & RO
JqudeBJJdE?ZgFIQSJHJIJJc{dethS ud d

1 4 dzd dzfm § s dzsh b Hdzv fd

1 3,29 1,79 6,79 1,79 3,39
2 6,59 8,39 1,79 4,1%
3 38,79 26,79 8,39 23,39 24,49
4 45,29 53,39 40,009 21,79 40,19
Y Olstelz H dzd dzd i) 6,59 10,090 43,39 53,39 28,19
RISBG S 100,09 100,09 100,09 100,09 100,09
v o HdgVwWw*: 3,34 3,46 3,44 3,39 3,41

stz delsOted?2 fsMmjldlsjdzj?2 ¢ dedL SCdad3s sy dz O3
ldBdzdtslsj €O d . J;dchdzfr]QtsG
o Syj dz dzj Hiclzy j dz¢ B dz" 2 dleSJtGle)fr]




15) Juyjdt o (it BddadsmisOs dj ddj { dj ¢Istetsdzdz’
MtsB Miso j dzdzts § -triciglsH fsiBasd Isj dz Milse s BdBAEZdBII Cd (MO2I
Htezedj MO2Ireé: orhj MmMtcjHdzj 6
v OB dABy O
]l 1Ists?2 BdBdzdtslsjC] dydts dzjcC s sWstedddls! /L OSOL
ldBdzdislsj O 1 &5 BOf
Jc{deq’tslstJHcézadzﬁ? i deads|”® udd
Jszcfdzfr]QBdZBth Hdzv fdz
1 1,69 1,7% 8,3% 2,99
2 8,19 10,09 1,7% 1,79 5,49
3 48,49 30,09 15,09 10,09 26,09
4 25,89 45,09 28,39 25,09 31,09
1 Ols tc 2 H dzdadgdldnd 16,19 13,3% 46,79 63,39 34,79
RIstsg fs: 100,09 100,09 100,09 100,09 100,09
b tcj Hdgw W * 3,17 3,37 3,19 3,64 3,3(

* dtej Hdzd 2

fsCOL O d

tcOmMmMudodz fts

W st Bk dzj

Mtcj H dijif2s deosd

dzj Mtsc dzOMdj ) H QGddle” dis \zjlsde' | tedpcHL " T 8 Bizdes® D zPmdy, M4 Elso
sy 2¢O BdBdzdtslsj $d s HOdzdzsdzz Ctedlsjteder . 1 5C0OL O] dz2 tOMmMm
16) Juyd o fsmilsdlsdeydds ilistoplagjtezfyy o smilsdls dzv B
Bsed dzse s HEsMIsEf O o Rdzsjtedzilse: o MsC OW
v OB d#fAiy O
]l BdBddBljSj ftoiHtsMsOodw jlsmw BEfMmlss2yder 2 c
ldBdzdslsj O 1 &5 BOf
Jd;dzq’tSISJJngadzﬂtj @[ JC{BdZCfiSS ud d
\
Jszcfdzfr]CBdZBhJﬁ] H dz fn dz
1 1,69 1,7% 1,79 1,2%
2 4,89 6,79 1,79 3,39
3 25,89 26,79 13,39 11,79 19,49
4 62,99 48,39 55,00 8,39 43,89
) Olstglz H dzd dzd fy 4,89 18,39 28,39 78,39 32,29
RIssG 5: 100,09 100,09 100,09 100,09 100,09
it HdgvWw?>* . 3,58 3,51 3,7( 3,23 3,56

S sd3d3j dzls Oted 2

Il dBdzdtslsj €O d d3.

e d3d Hdzj dzdz" 2

o dzj
1= 2 (O A

9 s

R dzls j todzj Is

o f)j Wi-fiL OdzOR

d Mis/

e ROzISjtodzj s dzj MisOB ddzj dz
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{Yyd 20 1 EMfitlsOi3d toj Mztemdesets B J MY J Y
BdBddsls]Sd

20) [yjdCo Y jtebOoddudtedbigpdistesdadz n - to] Mzteimtse
Ools®BEdL Jictseo Odedzr = dJdaW stedzZOYydsdeder = MdMlsj dzg,.e : B BL hy
Mty Hdzj 2
v OB d#by O
ldBdzdlsj o 1 5 RO
Jqsdzqtstscj‘ngfvdzi‘f wpg. |1 dsads ® uild
14 ddeIang ¥ dZBth H dzw fl']dZ
1 7, 7% 9,19 9,1% 8,39 8,5%
2 9,19 2,19
3 7, 7% 18,29 36,49 8,39 17,09
4 84,6% 72,79 45,59 83,39 72,39
RIStsG s 100,09 100,09 100,09 100,09 100,09
g icj HdzgVwWw* 3,69 3,55 3,1§ 3,67 3,53
* dejHdzd2 (SCOLOB) & OmMMudkOd § Wstdzd) Mij H dEfAs dosg)
dzj @OMd ] M HOdzde o8 klso jteyHjdedj o3 T fotsigzdrs] dafs € @®Mdsjy j 1S R1s §
SYjdz€C O BdBddtslsjSd 5 HOdBs®EE Ctdlsjtds. 1 C0OLO0Okjd oM
21) {yd des LEMmY j e @dgd U§ thIs fsko o0 figdnij¢ Istots dedzbs i3 & O
o hj MmtejH 4 2
v OB d#4by O
1l dBdzdtslsj €O 1 5 GO
Il dBdzds| 1 dB d&zd ts 9 yY4J d
d d3. Hdzw HJ| &[] JHC({szVBVdngz
1 j dzd dzfy| ¢ datsh j m
1 7, 7% 9,19 9,1% 8,39 8,59
2 9,19 9,1% 8,39 6,49
3 38,5% 36,49 36,49 16,79 31.9%
4 46,2% 45,59 45,59 66,79 51,19
1 Olstclz H dzd dzd fi 7,7% 2,1%
RISBG S 100,0% 100,09 100,09 100,09 100,09
b tcj HdzW W 3,35 3,18 3,18 3,42 3,28
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22) [Yj&EO {CMYfjEen] ke EEhkieds gyt Odd & HES
(fsddsl] S hister j SIEEENST:) IS jdH 2w
v OB dA4j/y O
{8 &dskj <O 1 & &Of
JdBWdBBJtiawﬂf [, |1 deads ® ydd
W
Jszq’dzﬁ]SdetSthn H dz fn dz
1 9,19 9,19 4,39
> 23,19 1820 27,39 2504 23,49
3 23,19 36494 45,50 4179 3620
A 53.8% 36.4% 18,74 333% 36,29
TS 100,09/ 100,09 100,00 100,09 100,09
T R 3,31 3,0( 2.7 3,04 3,04

HEjHB]2 (GCOLOS) & wOmMMudkOod (& W stdzd] MNtj H djfts dousdg!
dzj Mse dzOMmdJ M HOdede" 3 klso j toXCHtg odifj] iRl s, drdaty fz' ) Eae dz@ Pf | Sy j 26 ©,
5Yj &S O BdBdIslsjSd 5 HOGBEEE Stdlsjtds. 1 sSOLOk]d t©OMy

23) [yjdLo +iMfjeOddudedbj BqicjgHjddd Hishisizf O
q dz¥ tstc 5Oy desdiedzad Sis | Yydgbds Ok (s ded O tsdzH, | Qli b, v
On-l i ne, -Rdzlf tc@®tc. Mtcj H daw W
v OB d4ByY O
I dB &S] S O 1 & RO
ququbgtiawi? i |1 dsads ® uJd
w
JJddeZﬁ]gsdztsthn H dz fn dz
1 7, 7% 18,29 9,1% 8,39 10,69
2 18,29 18,29 33,3% 17,09
3 23,1% 27,39 45,59 50,09 36,29
4 69,2% 36,49 27,39 8,39 36,29
RIStsG s 100,0% 100,09 100,09 100,09 100,09
b tc] HdW W 3,54 2,82 2,91 2,58 2,98
24) [YjdeSO 1S jtcbOBd NSBGls, ¢ Wse &zv | Bsmis’ , Wk d
MO2EB0O o' NS OW
v OB d#4Py O
l dBdzdslsj €O 1 5 BOT
qumqsbgtiﬁwﬂf wpf. |l deads & ydd
W
Jszc{dzfr]EdeBthn H dz fn dz
1 1,7T% 9,19 4,3%
2 7, 7% 9,1% 8,39 6,49
3 53,8% 18,29 54,59 25,009 38,39
4 30,8% 72,79 36,49 66,79 51,19
RIStsG s 100,0% 100,09 100,09 100,09 100,09
b tcj HdW W 3,08 3,55 3,271 3,58 3,36
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25) [YjkEO {CMfjtbREdshe®siEdejc! &j Cbsdd 5 b
e Mo | dedets j -fRistgisnj festgosd s j &' Mlsots BB ddislsCd (MO2 L
Hie G j &)02ds™h j ftej W dzj 2
v OB d&Py O
(B &]BE] SO0 1 & &Of
JdB&dBBJ'Liamﬂf [, |1 deads ® ydd
1 j dzd dzfp € s dzsh | T Hdzv fdz
1 9,19 2,19
> 15,4% 27,39 8,3 12,89
3 38.5% 18.20] 3640 333% 3199
A 46,29 63.60f  27.3 5839 48,99
O 6 A dzq ded 9,19 9.1% 4,39
REGG 6 100,09 100,09 100,00 100,09 100,09
TIT 3,31 3,50 3,00 3,50 3,33

* djHdd?2 (GBCOLOL] & ©OMMUJOd (6 Wektdzd] MnNiej H djjs o)
dzj Msc dzOMmdd M HOdzdz' 3 klso j to) HAlxdzdtg deiyy, s detizly pz' ) Ezef dz@ 1Pef | tsfy J Hzle ©,
SYj &S O BdBdRIEIjSqd 5 HOGEEKE Stdlsjteds. 1} s8SOLOk]d ©OMH

b@@d shi@b dpded j¢c § sijisdlsj dzv d3 B

26) [ yYyd O L CMmyJte
sMisze®rd jr dgdc)j teiddgj Q

Bse dd desc s

v OB dAfly O
ldBdzdslsj €O 1 5 BOf
Jq’dedlsls,JJHgZ?dei? Wi |1 deads ® uid
14 dZC{ dz.fr] ¢ 5 ozt h J fl'] H dzw fl'] dz

1 YL 9,19 18,29 16,79 12,89
2 15,4% 9,19 18,29 10,69
3 15,4% 18,29 27,39 41,79 25,59
4 61,5% 63,69 36 4% 41,79 51,19
RIStsG s 100,09 100,09 100,09 100,09 100,09
b tc] HdW W 3,31 3,36 2,87 3,08 3,15
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JrosHT 5 BdsCk ¢c[YyjdO tjmMemdscs B jf
BB ddslsjCde
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sotHdF 2 CwOWdS ByjdSd §emikdlsj dv kd B &OMsd
i Mztemdsdtyg ugedgdy HJ Wis] dz! desiQBEgj BABjdzdsE)l§ 25 d)

3,8
3,7
3,6 =
35 \
0 o v
3,4 éo - \' \s
3,3 8 QE.]%’ = 33 TN
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——1 dBdzdslsj O dd. 1 | defdemfBEdsls j S O Hdzw HJ
g [ [ 1 dedzdtsls ] €O Hdzw Mmd

)5 KOMMdok o vyj disds:
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(Mtejnddd BYJdsd)
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1 smdIsdlsj dzd :

l. vtetse j dz PHtso dzj Iseo Bt dzdzsmis d fsmdIsdIlsy dzj
sBd MY J wjded d3 dine "H W Isjtalg’ Hadipifplsts],  dzO n 5346d Is
dL 4 oBL®BSyd = BOdzEZEsS.

2.10detsdzy J YLdlsdodzts tsyd dej dz@ o tsL d3sy dzsls
o dzj N ded d3 d deW =Btafdg@affofsHisdgdp=iz’ d3 k2 fdzlz ¢ O d3

. I sftesmr , MowL Odzdze § M to] Mictlfisddas dzts B 5 &f 1
o' L' oDt ¥ s5MJ ladUslytaizjHfidg dzd Sy J ded s @ed d H O §
ftcj HsMIsOo dzj dzd W z nozlz ¢ R dzls J todz] Is dzO Is
dzj dL o g Mlsde” &3 Hdzw 5% s bdusijlo@sh j o
BdBdzdslsj Cd, 28% o wuwf[fi1 d I %H tesdhdzfsh O

4. 4 Q2 st BdBddslsj ¢ BOCMHdBOd -8286% o f IS I5d Ids
dmEdzs yjdedy d3 BdBdZdBISy Cd HdzY Mmdjfra,
dqdzd ¥ "dr otL @y dshisj?2 dhHftd Lo Ols! HOC
[ 4 dz0yd tsdzO0 dz! dzts 2% syjdelsdexfsyjlsdg j$?j d4j0 L dzO € s d3’

5. 4 EMmdzzec O] , Colstster | By dts t6j OdzdL ts9 Ols
L dz2OC B d3" 16% ydlsOlsjwzj B das tzf d §2 & @ Bodzd t
gffJ1 d 63% ftsdz L soOIsj dzj 2 BdBdzdtslsj ¢d

6. & 5n tc OdaWdpHsimdzy disvy ded dsdzse s Btsdzj § dedL G dnm T
Bdedzdtslsj € dodsjded 1. 4. 1 JdzddemMSscts
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CCMmY j telsT :

l.vtctse j dz syjdst 1 CMf jtelstse toj MEtemdaesc ts
BdBdzdsbj 8] Mtcj Hdz] ¢ 5, ZO- s BMwdLe 4L da@
B Odzdzts o .

2. 1 tsBBsB N j dzdes 2f St WHjOHEBGgs Bz B dzsC 2 dzdH Jtelz j |
BdBdzdBlsj O dd&3. 1 jdddhises (MtejHdd?2 BO
olsstesy dJ Mlss twWOLHjdVEIl BBl $ O HA
mMdzj fr - [JHAdOCt dO ¢ todeiy] St Jde'tedz™" ds th 5[ &
1 j dzd dzg6ls@s clzHmils Z -9 Isg ¥ PcteHg Ojls E Htokzedr B
e 5 OC, ldBdzdtslsj ¢ O H-¢ztzts M) Y OF  dff d3r ¢j lds hdz s

syJjdeSd M jtclsse s EZHBMIsakz MO2Istse
ey Hd oMiAB" Byjzdadeg G Hjded2), 5 ftoj HMI
yJtejLr mMO2Is

e 1 dBdzdtslsj SO (k. 1 jdzd dzmC se s BHdasL dzOy
HsMiskzy O ¢ odzj " dzd e d g diaf tslts f3Qdz'd ds dzdaty f lz &
tcOMf sdzOGOjIs dzEeyh dd3 WsdzHsdz tsydW tctseo O dadz

3. usn Oy jIsjndzH § dzyd W B tsdzj j dzdL S dn sYj C
[ i d2OydsdzOdz’ dets? BB dZdESIS§ € d.

4. [ B swdedz" | wfysi deCQfdzdzs 3z B dzsC 2 B L Cff j elstse

5.1 8 tsHdzd 3 d Isj B3tsyd € edlsi gy Blstseo dBscklzls
YdlsOlsjdzj2 ¢C0¢C o mMigbgktsdlyj detsbizj j s®C d B
MO2IsT Hekms BdBAEZIIjSC (dd&. 1 jdddhtses
Y B ydlsOlsjdzd,ioOhpoakzr Htokzcdn
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v OB d&Ry O
49 BHA@OVYW ISOBEZdJYO ByjdSd fsmilsdlsj dzv d3d B dzOMmIs ¢

i Mehmdses e Ml dasfylsiy B dB dzd sl j §

Jq’decftSJquzq’tsl 1 s
J B dzd s

qas. | wer wgluggaly G0 Y sonnd
1l j dzd dzfy ¥ dztsh j 9 yYJj d

ltcjHBMIsOo dzj dad j

BdBdzdslsj ¢d d&sed( 3,58 3,51 3,70 3,23 3,56

® Rdzlsj tedzj Is

1 0dzduydj o kytsj yH

Codzgj N dzd d3 d dzW 56 d3C

BdB dzd slsj ydz' o3 teg f

(sded ¢ O tsdzH , | QI i 3,49 3,49 3,35 3,61 3,47

vdzd o j tefyd Is j Is iy S-ley,

RAWHO d Htc. )

VHESBMIse 85, BB dzs9 (

Wz dzC \ 5 dzO dz dizs fy s ¢ 3,34 3,46 3,44 3,39 3,41

Bl jd&3 Wsdzh O BYyd

HEC a3 dzs tsds j € ilhis (>4 3,36 3,42 3,39 3,38 3,39

CeOWdujmMSdj Wit

ltoj HSMIsOo dzj dad j ¢

Emazze yJtedL MmMBBI

R dzls j tefiddg jsH MiIs Oa d Is § 3,17 3,37 3,19 3,64 3,30

BdBdzdtslsj Cd (MO I

YyjtejL Htokzedj MOIJ

I BtsBN j dzdzOW sy j oz

o YJ &S@AsCE: 3.39 345 341 3.45 3.43
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v OB d&ByY O

49 SHAZOW [SOBdJYO tyjdSd {SMfjtlsOold § OtOR] Istst
Hjwilsjd desfplsd BB dZdslsj $
I dBdzd 5|4 d B dzd 5 1 d B dzo 1 s
q os. Hdzv Hjle[ [ JEO B0 M Md

1§ dzd dzfy ¥ detsh j fy fmdzj 19 yjd

1 Odzd y g £ Isitedg dzdz" = o j

(RO IstsBOIsdL Jqtetso C

JqdaW sted3Oyd sdedz' 7 fd 3,69 3,55 3,18 3,67 3,53

HOdzdz" R) Hdzv et

VHBBMlse ts, tsB dztso dzw

Wk dzS U s 020 dz dzs fyls - 3,08 3,65| 3,27 3,58 3,36

ltoj HsMIsOo dzj dzd j 1

YyjtejL MmtsBMmlse j-dzdats

feHMisOadlsj dz' Misa ts 3,31 3,50/ 3,00 3,50 3,33

(Mo22l, fYottksOod) / o

MOl

5 dz imsats L O '

EOBOO[}Z;;?J g dg 3,33 3,18/ 3,18 3,42 3,28

ltcjHMsOodzj dzd j o s

BdBdzdslsj ¢d d&seddz 3,31 3,36| 2,82 3,08 3,15

R dzls j e dzj Is

(Bl jd3 WsdzH O tsydW te

HSCkZd&j dalstse  ( ff tsdzdets 3,31 3,00 2,73 3,08 3,04

CeOWdujimSd] YWtstdo

1 Odzdudj o kytjyHj

o dzj " dzd 03 ( dzW 1548 df @ gaf] 3,54 2,82| 291 2,58 2,98

Is§ ydz" 3 tod MzteMON

[ BBBBN j dzdzOv sy dz€ O

Yy kzsds §s5 BdsCE: 3,37 328| 3,01 3,27 3,24

[BBBN j dgdgOY syj dz€ © ydl

BaziSS b2 3,39 3,45 3,41 3,45 3,43
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v OB dZiy O
4o SH dZOW kOB &dJYO BYyjdSd ydbobjdavdd d +CMmfjtls
sBd MYy judddy HjWIsjd dsflsd BdBddls] !

1 dBdzd 5| 1 d B dzd 5§ 1 ts
qas. | wevspg | ulfa |40 “ G sonnd
dzd dzfp| & dztsh j M Yy dzts o

d
vdlccm vydd Ccfvyd(Scf vydESSiydicsn

&=

Oo dzj dzg 3,31 3,36 2,82 3,08 3,15

ol grF IS
g & w3

ix’r"“’w?r%

=]

sMls
s d Is
dz! dzscets W 398 3,51 3,70 3,23 3,56
tc dzj
ud

9 kZyt 3,54 2,82 2,91 2,58 2,98

s te o3

dzd sls § wdz" &3 | 3,49 3,49 3,35 3,61 3,47
de oW s dZH I

9 jto

i ne, -[rR dg¥ Q@

s Iso t5, sB @ 3,08 3,55 3,27 3,58 3,36
dzS yd s dz0@ dz' dgtt 334 3,46 3,44 3,39 3,41

¥ tsdzH O 3,31 3,00 2,73 3,08 3,04

J dzls 59 3,36 3,42 3,39 3,38 3,39

fls Oo dzj dzd 3,31 3,50 3,00 3,50 3,33

3,17 3,37 3,19 3,64 3,30

Sl 3T a~NI @Y =EclQc~w oI~ T

Sdd udj

I 3,69 3,55 3,18 3,67 3,53

s ts dzc{ yd Msets L @ 3,3 3,18 3,18 3,42 3,28

d BB hj dzdzOW 59 3,37 3,28 3,01 3,27 3,24

3,39 3,45 3,41 3,45 3,43
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1 dzts €

{Ud 2¢ © uydlsOolsj dzv &zd

Ctwdlsjtedjo

3. § & ziz¥ jatixffetzoEskEy 2

b f) dzk

¢ of dswidiz tm)lg diag{fjls & d B dzd I § Uy

17) Jyis#§iOsdlsj dzv di3d & jedfded M EC @V sMdzO" j dedets s ( d
Mo to] B dizse s B Sudgls o Cgdiots o, Bz dz sqdsj H2 dz & bh
fiersjChhstese d .§.)é: of s oW
v OB d&shby O
I edkdBlsjC O notsht BhdOh | 0 feo i & disd © |
ftots) Qi Jsqagj Hd2dzy | bhsts2mlse® d Is
L B d&dBls] O I & &OT
1 dBdzd 51 dB dzd 15 9 yY4J d
qk. |Hdw My @[] ’ng‘fvdzfnﬁ
1 j ded dgf] ¢ dgtsh A
1 1,69 1,79 8%
> 1,69 5,00 1,79 3.3 2.9
3 27,49 25,00 16,79 26,74 24,09
A 67.70 65,00 73.39 5504 65,39
O 6l A ded ded M 1,69 5,00 8.3 13,39 7.0%
REGG 100,00 100,00 100,00 100,09 100,09
TITT 3,64 3,63 3,78 3,56 3,66
* gtejHdzd?2 ftsCOL Olsj dz ttOMmMudlsOdz s Wisted3kzdzi ftcj H dejtf2s daiaesq |
dzj MEZOM HOdsde o5 bLise jtey Hj dadj B 1§ tetrdsta L € 2B S @ €tsd
sy 2¢O BdBdZdslsjCd 5 HOdMsH®E Cttdlsjted:s . 1 sC0OL Olsj dz tc O

S s3] dels Ote d 2

fsfmjlsdlsjdyj ?

I dBdzdslej MG sH® 4
o dzjls SRy “Isjo

Il dBdzdtslsy €O
o (BO dzts

¢ dzd &

H dzw
H dzw
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8 dztsh j Milse O:

l COOdzse Odzqd
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Wzjhfdzj2 e

Hdzw tsBM jGts



18) [Vydd€ o fijlsdlsjsdwdids wlstezskdnist Wz igztso 2 o BN j
(fsdd , SstedHse’ , kkOdjikr): udhlEsl o nosmne fifisi dzd
fesmsstedshls! d k. §.¢&: or s Ow

v OB dby O
[ dzj tsdztcOo ddzd ! EfmMdzsedw o wBhdrn fd3jhiddvrs B

sded ydflsr j, fojlsdr j, Isjfdrj, f§shisst

ldBdzdslsj § 0O 1 &5 BOf
1 dBdzd 51 dB dzd 15 9 Y4 d
q&B. |Hdv Hj @[] ’ng'fvdz%ﬁ
1 dzd dgfr & dztsh j f
1
2 8,19 3,39 1,79 3,39
3 17,79 13,39 15,09 6,79 13,29
4 72,69 86,79 81,79 91,79 83,19
) Olstclz H dzd dzd iy 1,69 0,49
RIsG 5 100,09 100,09 100,09 100,09 100,09
g tcj Hdgw W™ 3,66 3,87 3,78 3,9( 3,8(

* dwjHA]?2 (GCOLOL] & ©OMMUdkOd §6 W Stkdkzd] Mie, H djfls dousg)
dzj tse dzOMdj f HOdzdzr 8 klso jtey Hy dad j &Y s dzdaty ' ) tEae @ QG | iy j 2B O
syj dzC O B dBHdsdsts Gl Ywsdlsjteds. ) 5COL O d ©OMMudlsOde Hdv Is,

StEBBI dzZsOted 2 ffsMilsdlsjidzj?2 € dedL Cdd3 syJd dzf Oi:
ldpdzdtslsj €O dd3. 1 j dzd deh€ 56 t5::

e 9 IskEOdzjIsOr ctowL dzso Olsts

dzj s fsdztslsjdzjy d W ,jdzse o IskzOdzj IsOn
szOdzjIst dzj Mo jlsdz j, dai k¥ Isdz §

Isj Bdets © CtstedHSLOR

g [ [

o Bdzsets Miskzy j dzj &

e dzjIs SEOdzj SO, dzgj w©WOBBSISOJ IS

Il dBdzdtslsj €O Hddzw Mmdzjy fr =

e 9 IskOdzjlsOr Y OtCts, CtsdzH j &zl OIs
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9) JyjdfoO UBMJBdBJSdBWdSmQSWBMB@dWWBSd? o Ydlisc
EHtsBMIso ts

Mskd jo Mstsdkse, dn ©OMMsO&ss Sd, Mo j
v OB d&/y O
[ dzgi tsdetcOo ddzdf: EmMdzsedw o yYydlsOdz dz" = L Od&zOR: 9
dzj HEh dzts
Idedzdslsj SO 1 & BOf
Il dB dzd 54 d B dzd t5 9 Y4 d
qg. |Hdw Myl w1 ’ngfvdzfnﬁ
1§ dzd dzfr & datsh j f
1 1,69 0,49
2 1,69 3,39 1,79 1,7% 2,19
3 25,89 13,39 16,79 5,00 15,39
4 71,09 83,39 81,79 88,39 81,09
) Ol 6z H dzd dzd ) 5,09 1,2%
RIsts@ s 100,09 100,09 100,09 100,09 100,09
Hitcj HdgVWw?>* . 3,66 3,8( 3,8( 3,91 3,79

* wjHAd2 (GCOLOL] & ©OMMUdkOd §6 W Skdkd] Mie, H djfs dousg)
dzj Mse &zOMdj M HOddy 5 klse j oy Hj dad j &Y ts dedals o' ) Ha dzO@ P | Sy j bzl O,
S5YJ &S O BdBddBls) $d ¢ tsCHOQMMYEE WOMMiuEds0.d HdY Isjhi, Gt HC

stz delsOted?2 fsmjldlsjdzy?2 ¢ dedL SCdads sy dz O3
ldedzdtslsj SO dd&3. 1 j dzd dzm € ts¢ ts:

e Mojls d BCdO ttOL &N Jjdr Glsdtsmdlsj dz' dzts Mmis 5
1= 2 (A

e Byjdz Isj MdzOw BBBMIsOdzse € O

20) [YjdS O fsi]Msiqisqraddd dSicd OtH j s 0e: o' S OW

v OB d&ByY O

l BdBddBIjCj Attetshd?2 cOtcH jtotsB, o dzj d3 -
ldBdzdslsj €O I 5 d30f
1 dBdzd 51 dB dzd 15 9 Y4 d

qng,.q o i; wpga ) de@ds
1 j ded dzfi]® desh j A H m

1 1,69 0,4%
2 1,69 1,79 6,7% 2,59
3 14,59 13,39 3,39 5,09 9,19
4 80,69 85,09 96,79 83,39 86,49
\ Olstglz H dzd dzd iy 1,69 5,09 1,79
RIstsg ts: 100,09 100,09 100,09 100,09 100,09
b o j HdgVvWw: 3,71 3,83 3,97 3,81 3,84

Stodsdsj delsOted?2 ftsmjlsdisjdzj?2 ¢ dedL SCdds syj de Oas:
1 dBdzdtslsj CO dig: 1 j dzd dzi € s

o dzjIs § dzj ydgstsoe

ldBdzdtslsj €O Hd&zvw Mmdzj §r -

o f sMistsw dzdzs dzj Is MtslstclzH dzd € O

e jJHES ttOBEKSISOJ Is
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21) JyjdeS O §tsmjlilsdlsj ddoddy dSite BlzjitgdsOee dzdL ¢ OW

v OB d&Py O
] BdBdZdtljSCj ~teshd?2 BEWjIs, o dzgj &3 dstsy d
ldBdzdslsj O 1 s
JC[BdZC{tSISJJHCézadZiIS w1 JdBdZdBd3qufndf;]tg
J;cm1¢ms5(ushié] Hdv  fd

1 11,39 25,09 41,79 38,39 28,99
2 16,19 13,39 1,7% 1,79 8,39
3 32,39 13,39 1,7% 12,09
4 24,29 23,39 1,7% 8,39 14,59
Y Ols to iz H dzd dzd ! 16,19 2509 53,39 51,7% 36,49
RIstsg fs: 100,09 100,09 100,09 100,09 100,09
b icj HdgvWw*: 2,83 2,47 1,21 1,55 2,19

* dwjHA]?2 (GCOLOL] & ©OMMUdkOd 6 WStkdkzd] Mej H djjls dousg)
B s &ZOMdj M HOdd & ke jtoyHj ddj 5 & &dgsizdOted |y S O Lisg j &S @
5Yj &S O BdBddslsjSd 5 HOGBEEE Stdlsjtds. 1 c8SOLOkjd tOMMy

sStoddzj delsOted?? fsmjldlsjdzy?2 ¢ dedL SCdads sy de O3
ldpdzdtslsj €O dd&3. 1 j dzd dzm € ts¢ ts:

e StojBlzjlsmMw Btsdzj ] fJtetsMmiststodats] ftsdzjh j dad j

dzj ttOBGEMIte] fsdedo v o3

dzj s dested3ZOdz' dz" = MISOC Odzso § sSH ctstew ydJ dzOf
N J dzOIsj dzt dgts fH j dzOIs! COW,j, O dzgj BEW, Is
Bdzdslsj SO HdzW HjIlj2 d 8 detsh jMmlse O:

BWjIsO ottsBhN j dzjls

dzj ®BjMmMlsts © BdBAZdSISj $j, daj dzlzy j dz

1= 2 (A

e BZW jIsO otstsBh j dzjls

1 dBdzdtslsj €SO Hdzw Mdzjfr =

e BEZW jISO ottsBhN j dzjls

e BEW jIs dzi thakdiEa d d3 o BdBdZdtslsj Sk daj J Mmlis!
e MltczHdd ¢d YOj B §sWIis!

p|

OOQ‘OOO
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22%] égi dz¢ © f sfj Isd s jSdisdpds doutg dnis stg o “swas te d3dzj dzd §  f s d
o’ MsC OW

v OB dPy O
) sk hjdzd" BdBdIBE,)Sqd NSt SWswdd d , jhk! ¢
qd 5. q.
I (B &dBk] <O 1 &
chdeq’tslquEngZSlgsJ Y Jc[deq’tstHOJmCEg
14 dzq der ¥ dZtS h J fr] I H dzw fr] oz

1 1,64 1,79 1,79 1,29
> 1.6% 6.7% 3.3 2.99
3 30,6% 20,04 20,0 834 1980
A 66,1% 179 75,00 76,79 72.30
O 6l A ded ded M 15000 3.7%
REGG 6 100,09 100,09 100,00 100,09 100,00
W 5] H g W 3,61 3,6 3,64 300 3.7

* djHdd?2 (GBCOLOL] & ©OMMUJOd §6 Wekdzd] MnNiej H djs o)
dzj e &ZOMdj] M HOdde o3 klso jtox Hj dzd j G5Y ts dedzty flz' ) Haf 2@ i | sy j bzl ©
SYj &S O BdBdRISIjSq 5 HOGEEKE Stdlsjteds. 1} s8SOLOk]d ©OMH

sStoddzj delsOted?? fsmjldlsjdzy?2 ¢ dedL SCdads sy de O3
1= 2 (O A

e Mo jISO dtsy dets § tsBEdz! M §

e Yo jIstsea &BOdts

e 9y GGWtttddz) dzadJ tGHhSISd{ datsd

23){ yj &&C O ftsfjIsdlsj dz¥[disfdztsMejddsd jto '] tgits dzO dzO ¢ § s5fyj L

(o jydzdatsfls! , sOCIdydetsils: , L aydoeasmls: d Is. .
v OB d&fly O
utslstokHdzd S d BdBdZdslsjCd Br dzd tsyjde ojydder Mt
ldBdzdslsj €O 1 5
L B dd s *ng'fvdzﬂ‘f TR qsmqs%ueimgg
Jszc{dzfrJSBdZBth Hdzw oz
1 1,69 0,49
2
3 17,79 15,04 10,09 6,79 12,49
7 80,69 85,094 90,09 93,39 87,29
1 Olstglz v dzd dzd fiy*
Rsts@ f5: 100,09 100,09 100,09 100,09 100,09
TR 3,71 3,89 3,9(¢ 3,93 3,86

Std3d3ji dzls Oted? Y tsmilsdls]
I dBdzdslj SO dd. 1 j dddz
e dzj ofj MtlsteknddCd

dzdL Sdds tsyj dz€ Ods:

dzj 2 ¢
MG sGe ts:
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24) [yddbo {§tsmjlsdlsifdydsDd st filssjfisd v o¢ ff tsdzdzj dzd ¥ B d
EmMzkecde: or mMtsC OwW
v OB dBRy O
[ 82 LOfts B dz 9" f sdzdzj dz B Migte®ls! d3gdzd dzj
ldBdzdslsj § 0O 1 &5 BOf
1 dBdzd 51 dB dzd 15 9 Y4 d
qB. |Hdw Hj @[] 'Liﬁw%ﬁ
1 J dzd dzfi & dztsh j f
1 1,69 3,39 1,29
2 1,69 6,79 5,09 1,79 3,79
3 27,49 20,09 11,79 23,39 20,79
4 66,19 71,79 80,09 75,09 73,19
1 Ols tc iz H disflsiad jfs ¢ 3,29 1,79 1,29
RIsG 5 100,09 100,09 100,09 100,09 100,09
g o Hdgwvw>: 3,63 3,66 3,68 3,73 3,68

* dwjHA]?2 (GCOLOL] & ©OMMUdkOd §6 W Stkdkzd] Mie, H djfls dousg)
dzj Mse d&zOmdd M HOdzdz' BB dialLoQivic 31\ jdegSi G3Y ity joie el d2OMd § M Eklse
5Yj &S O BdBdIljSd 5 HOGEEEE Stdlsjtds. 1 cSOLOkjd oMy

sStoddzj delsOted?2 fsmjldlsjdzy?2 ¢ dedL Cdads sy dz O3
1= 2 (O A

e dzj ofMjeHO B Mistets, ftedrBHdISMY XN HOIs!

o HisdzfifMslzls d dzj dzORtSHWIS

Il dBdzdtslsj €O Hdzw Mmdzy fr =&

e YHOIY HBsdzets ftednmntSHJISMW
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{Uuddlo LM jlsORd ¢ fsERizistelsdab'hisads dzd sisd Y

27) [yidco Sy jtehPdkded Utb e P JBMczO" | dzdzsmis! ( dzO
Mo te) BB dedets € 5 15 B tKtacaiglts o8 Asdgdtsty s o5j Hg2 dz' = bEMlstes? f
fesjChttese: dolsmMES Pw

v OB dBByY O
dB kd6E] ¢ O 1 5 BOf
Jc{dedtsls'Jngsvdzit.S e[| dBeds o uJd
1 j dzd daf “dztshj}ln Hdzv  f)dd

1 9,19 9,19 8,39 6,49
> 77% 2.1
3 15,49 9,19 36,49 16,79 19,10
4 76.9% 8184 54,50 75.04 72,39
TS 100,09/ 100,09 100,09 100,09 100,00
W 5] H g W 3,60 3,64 3,36 3,56 3,57

HEjHB]2 (GCOLOS) & wOmMMudkOd (6 Wstdzd] MNtj H djfts dousdg!
dzj Mse dzOmdJ M ri@fdedds, di3 oy edg' e ydadiL € OW f tsqzdaizy O Miste ddOMdd v ,ip dzlse
5Yj &S O BdBdIsljCd 5 HOGBEKE Stdlsjtds. 1 sSOLOkjd t©OMMy

28) [YjdSO 1S jcbBdY sGdasfdw bfdso 2 o GBI j &
(fsdkdr , SstdHser, kkOdjlsr): ydhkslso, sfejh j dad
feshsttedshdgs:? ar isj §Mtj Hdzj 2

v OB d#fiy O
I dedzdBlsj C O 1 & BOf
L dB dzd 515 ‘ngadzﬂ‘?' STERLL L ® uid
1 j dzd dzf BdZBhJ;!n v

1 9,19 8,39 4,39
> 9,1% 9,19 4,39
3 46,29 18,29 27,30 25,00 29,80
4 46,29 72,79 54,50 66,70 59,60
) Ols 6 H dzd dzd f 7,79 2,19
RSGGEE: 100,09 100,09 100,09 100,09 100,09
4G HdgV W 3,5( 3,64 3,27 3,50 3,4¢

50



29) [YyjdS O +CMmYj telids tEliptels j teifdrtso 2 o YdlsOdz dats
FPHsBMisots Miskzdz jo, Mmstsdtss, dn tOMMisOdmws C ¢ Migs P
v OB dby O
I B d&zdslsj SO ] 5 BOf
Jdl_adzq’tslschng?vdzﬁtj i |1 dscds o 4 d
Jszqdz'ﬁ]gdetsh;fr] Hdzv fMdz
1 7,79 9,1% 8,39 6,49
2 9,1% 2,19
3 15,49 9,1% 27,39 16,79 17,09
4 69,29 81,89 63,69 75,09 72,39
) Ols tc 2 H dzd dzd fi 7,79 2,19
RSG5 100,09 100,09 100,09 100,09 100,09
bto j H dgWw W * 3,54 3,73 3,45 3,56 3,54

* dtejHdd?2 (sCOL O] d tOhhadddDds Y dy ivistasz, dzj i3tpteld s diff silzdidy js
dzj Mtsc dzOMmdd M HOdzdz' 3 klso j ey HJ dzd BY 5 dxdzly pz' ) Eae dz@ iPef | tsfy J Hzle ©,
5Yj &S O BdBoRIIjCd 5 HOGEEBE Stdlsjtds. ) &O2 Oz lsicOm

30) [uyddto MY jebOodkd udidk Py do'shoOC OV

v OB d#by O
B k] ¢ O 1 5 BOf
Jq’decfisls'Jngsvdzizs e[| dBeds ® ydd
1ddzd S pen HdzZv ) dd

1 9,19 9,19 8,39 6,49
> 77% 2.1
3 9,1% 8,39 4,39
4 92.3% 90.0% 81,80 833% 87,20
TS 100,07 100,09 100,09 100,09 100,00
TN LR 3,86 3,73 3,64 3,67 3,77

31) [yddto (Ml jcbOodkd udetdeRZEgadag Mmiej Hdzj 2

v OB dA/y ©
1 dBdzdslsj SO l 5 BOf
damgsel LGRS qeags 0N
J;dm]gts«gdm”% Hdzv ) dz

1 54,59 63,69 58,39 42,69
2 7,7% 27,39 27,39 25,00 21,39
3 23,1% 9,19 8,39 10,69
4 69,2% 9,19 9,1% 8,39 25,59
RIsts@ ts: 100,09 100,09 100,09 100,09 100,09
b tod H dgW W : 3,62 1,79 1,55 1,67 2,14
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32) [yddfo (Ml jck@EdsdudhfBg" 5¢ s ddzjedsd jo " g

v OB dBBY O
ldBdzdslsj § 0O 1 &5 dBOf
rqaddmil GL 0T ey, |2 deeds® NS
J dzd dzfn § dzts h j i Hdzv fmdz
1 9,1% 2,1%
2 18,29 8,39 6,49
3 23,1% 63,69 33,39 29,89
4 76,9% 81,89 27,39 58,39 61,79
RIsts@ s 100,0% 100,09 100,09 100,09 100,09
Htc] HdzgW W > | 3,77 3,64 3,09 3,5C 3,51
* HejHdd2 (SCOLOL) & tOmMMudkOd § Wstdzd) Mij H dEjfAs dosg)
dzj Mg dz@ndn Odzdz” o5 klsoe j ey H j ded § d3, ts U jfdis dzdzadi L Shve deOdnjddieS G Cladsgels
sYj SO BdBddtslsjSd s HOGEE®RE Ctdljttds. )} 8COLOLj d ©OMM

33) Jyjdfo My jclfCdh§udls] $d whigiOddO] & §( 0 3 dz
KOS Isdudesfls: , wlsL' eydosmsC oy Is. §.)
v OB dPy O
Idedzdslkj SO 1 & BOf
qudzqtsts"HgZ?vdzi‘f wpf. |1 dscds ® uild
w
JJddeZﬁ]gsdztsthn H dz fn dz
1 9,19 8,39 4,3%
2
3 30,8% 18,29 45,59 23,49
4 69,2% 72,79 54,59 91,79 72,39
RIStsG s 100,09 100,09 100,09 100,09 100,09
b tc] HdW W 3,6¢ 3,55 3,55 3,75 3,64

34) [yidtco LEMFIcbOBEOSHd st o' § Sdzdzj ded” B (B
Emizead o M j fMtej Hdzj 2

v OB dZiPy O
I dezd5lsj ¢ O 1 5 KO
J¢dzd13lsJ‘JH?;zsvdzit$ w[f, ldBcqs ® uJd
Jszq’dzfr]CdetshJ}ln Hdv  fd

1 18,20 9,1% 8,39 8,59
> 7.7% 9,1% 8,39 6,4%
3 53,8% 54,50 54,59 25,00 46,89
4 38,59 27,39 27,39 58,39 38,30
REGCEG: 100,09/ 100,09 100,09 100,09 100,09
b ] Hdg" W 3,31 2,01 3,00 3,3 3,19
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lTotsH" 6 BdsSCE ¢ sfshkitdsuglsddesnilss' d B dzd sl Y dzts 2
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LEeO% ds

fjlsdlsj dv dd tsB dzOMls dz
| dedits J 81 dizlf gz s dRCAd )

CeOW d¢
C Y stcls dzs fiyls

o

49 tSHdz 2

3,5
2,5

..(;JU..
o
WWM
O,m.
.&B
Of fnas ~ N \%zﬁgum
Fhh bmo 1 o P Vo Z N TR
gy @ i\\
i = I
8§ = boamly 2
ez f yopls I 2= taph|fsasbmpaps
b3y thpmpera ©F m” Wbzt f o
Q ~ rsiysm e psoan fif
-_owN_N_oEN_ oo 0T I
ot ot q
zph|fsisppapa  — - 8% PPl u It
mp fpzp9 i 46 MM i 9 o mnp g S
hsmepsoalf il @ < Y rJsmaas 1
L ,M.m mw L
f | fppas ns e T M fhp|fppas pa
sty fhps Fsily s M.J S PelsW thps Pely s
I p T8 I
fpo 1 e m T
paw oS hh I 8~ rS|Wezpp f yomly s
8 gheamlz . =~ iom. nE 5W fhpzp o fa
Wagpsas ppss ¥ ~
hen o) .B( L
pfyas 4 e ot Dlamw [mosbh e
8 beazmplz — o o g " S
Wagpsas spsas 4 =) = s ag nh
i v £ i
§.% @
basla PHaO D c-% 8 o ala ff
fhN ppo L o — 8 © f bz f ysizps T
- D ~
| I 3
bzo o AW F fi @asap fHAE D
fhm fyams | T fAnpzpo 1
%)
o @ S ©w ™ .n N0
— =) ™ oV -

H

Hdv  fd

H dzw

1 j dmdziyBEitsls j ¢ O
1dedztslsj ¢ O
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) sfjlsdlsj dzd :

1.

Victse jdz22 EZHtsodzjlseotstej dzdesmisd f tsmjlsdlsy dzj =
fsmMjhjddhscCd?2, dBORtHdISBY 90 dL dz@ y jodsd WS
(oefmd Byjdctd woOmf sdsyjdhddpw &edbj s, E
[Isdetsh jdzdj MbtkzHdzdStse BdBARZISIK] S, O I
orLr90jls dzOtej ¢ Odzd 2 2 fsmildlsj dzj 2 : )
o’ MsCdj BOdEZ .

Lidztse dw 9 ftsd3d M J ded W = ftedL dzOs Isiyw ¢t
L Od3j yOdzed®2n o J(fguesd YtejIsd dzL  d ) ts ) dzts o dat
sfe j M j dedetsisd ) . YdlsOlsjdzd 1 jdzddsSd Htso s
(dets fted MtsateOdzjdzdd tsBh j2 of MsC 2 ByJ d
1 sfjlsdlsjdkd BdBddtljSd H&Y Mmdjfrao vy
Isjrded yj MSC e Mmtsmls Geendends Ml dedjsMsly jSdf'. dz [ H dz
pr Mk L OsadMmddsmis! yjdzjer n -igd 5 @dd gz
Mtcj HMise , O O¢CYj] (tslstcj B detsls o Ml
Of f OteOlskzter d ¢OmMmjls (HdMSBe) , d3ts ) dats
o MBS ks .

14 ©r'L"90jl Mjte! jLde = L O] yoded?2 ide
yj dzsdz, tsdzd EZHtseodzjlsotstcj dz otcj d3j daj d3 ts d
s4Od3" j dedL Sd) ByJdeSd odzzyl d slsdshdls
ots offjrn BdBdZItslsj COR orf MsC OW HBMY Bz,
HOdzdzs o3 bEytejy Hjdzdd. 1dLSdj ByjdsSd Bt
dzj Hts9 dzj Iso Stej dadats ls+ COyjmMsoatsdz 1 Ists?
f dzOMmisdSCso OW ftsmMezHO® d Is. §.), sO¢ d Mt
odHjdz), bOS d M $da dzOzkdyds; (s -isBY
dzj sBatsHd @3sMisd) . 1 4L d20yd dstsfmls ) ML C
fiosweodzw jlsiMfw d o Itsdz, Ykt HAdO yYyOMmils! f{
Ylsts BEWIilO o dzj s @x dls’! Of siddrcdtsy dz! dz" J
sijlsdds, Ut o BdBdZdSljCj Hdv fdifr A
o dzd B3OIs§ dz! dz" d3 Blsdetsh j dzgd § B3 MslstelzH dzgd $ 59 (
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CCifjlsr :

1.

Victse jda@ tsyjdeSd S jtelsOid ¢ sdiWtstcls dais iyls
or MsCd2, d&OStHJISIWE od L P Jo saddiBlsd, A L O
Ctedlsjtedw BLWjO).

sO¢ d o Byjdon fofmjldlsjdj2, Shfjtl!
ofMd & BdBdZISlj OB 6 GCdlsjtedvd SOy
fjteMsdzOdz® ¢ yYdlsOlj dvd, ¢ tsbiY stelsdzs s
of f sczdzj dzedw BB dZdtsls j ydzs?2 bkfdzkze d.

1t Ctdlsjteds 1 fMlsjlsdyj MEBsets W isteddzj dad W
sy Sk dzi Mitsdz €5 degdyd BMlsOdz dzr =, ©HAZO
oL BBsy dets?2 tsyj dz€ d .

1dBdzdtsls j SO dd&3. 1 jdzd dzmS s s  dzdfmjditsjizdedsy  ols
LO Myl BBdjj o' MSt?2 yjdksd ft Ctd
BdBdzdtslsj ¢d s sBSBN jdadlats? BSyjdeSjy twOmy s
sO0¢ d E ¢sfmibdlsjdj?2, MOk j ddLcdi Bty
BEWJjIsO. 1twd 1 Istsd3 d3dadjdzdod 14JSdipidzligils S@s @O L
YdlsOlsj dzj 2 .

USSR teOdzY jlsfw IsjdeH jdzydw BBdzjj dedL Sdn
sy dsd (LO dMmSdz yidzdd &3 Bdedzdslsj & d&s.
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v OB dZifly O

HoBSHMBGOY kOBEIYO BYyjdSd (shmjlsdsli? Giote dPEist
desdgsqj d” B dB dzd S5l ydes?2 ke g

Is
Il dBdzds| 1 dB dzd ts 1 s
qas. | wa wjlelfa) GnCld sonng

1§ dzd dzfin| ¥ detsh j M 9 YJjd

oYr o
o @
g8

!, s 3,77 3,8 3,90 3,93 3,86

GOtH j o 3,77 3,83 397 3,81 3,84

5| <

r, bkEzOd

dd4d, Moy
fetsmissedtshls:

3,66 3,87 3,78 3,90 3,80

7]
=

©
Q—

Fe AV —| oG-
T ®dF| 0O

FIE TG g TG
= 7 Qe == 9 -
SEFIQF 2|=anm >
@

gos=w| ——

SEBWstelsdetsmils! Iz
Yqd ez dztsdz L Odzj :
fiskzdz' j o, Mlstds 3,66 3,80 3,80 3,91 3,79
tOmMMmisOdetso € d, M
oBLHERO, ydmilst

CMmisjls i MCs]
] ft;]dsj h jéé[p ’ 3,61 3,62 3,68 3,90 3,70

jOldo dzsmls

{7
BB dzdlsj yds?2 L 3,63 3,66 3,68 3,73 3,68
U

J 7 dad i Mm$ Qs
(zOdZdudd Motk

SBStelz H & Gagffw -5 Is 3,64 3,63 3,78 3,56 3,65
etse, dkzdz Isdd3j H
Emlstets2 Mise, ftots

1 Odzdydjy BEWjISO 2,83 2,47 1,21 1,55 2,19

[ BtsBN j dzdzOW sy
YdbsOlsjdzj?2 o vyj

3,57 3,59 3,48 3,54 3,56
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v Ggd YD

4o SHMBGOW ISOBEIYO SYyjdSd !¢ jteloddf tdtapjdidss
BB ddlsj yds?2 bkfdkc(d

1l dBsdzd 5|4 dB dzd t5 1 s

) 1 B dzd ts

qds. md wj|ugfaltde %dzd3®fnfr]c
1§ dzd dzfn| & detsh j M ® YJjo

1 Odzdydjy cOteHj oty 3,85 3,73 3,64 3,67 3,72

[ lsdztsh jj dAffj tc ) ts dzO oz

fsmjlsdlsjdzs (9]

5OCIdUdshls! , &k 3,69 3,55 3,55 3,75 3,64

Is. . )

sEBY stelsdetsmils ! ki

yqdlsOodz! dzsd3 L Odzj

Miskzdz jo, Mstsdzsse 3,58 3,73 3,45 3,58 3,59

tcOMMisOdztso S, Mo

O BLHERO, ydmistly

vjnrdduyj MSOv tsfmd

(dOdzduydj MmMtse tcj d

SB Bl H LGV & Is 3,69 3,64 3,36 3,58 3,57

Bz dz Isdd3j Hd2dzr R

ftotsj Slststetso d Is

CMsjlsdud MEsj W

f sd3j h j ded W 3,77 3,64 3,09 3,50 3,51

ssBY stels dzatsmls ! ki

sBh jdi3 fsd3jh j ded d 3,50 3,64 3,27 3,50 3,48

CotedHBStE" , IskzOdyj

[ jwOlde dzsfls! o

BB dzdsls ) ydzs? b 3,31 2,91 3,00 3,33 3,15

1 Odzdydjy BEWjISO 3,62 1,73 1,55 1,67 2,19

[ BBN jdzdlzOW tsyJ d

& YyJdzsdl 5 BdASC 3.63 332| 333 3,32 3.36

13133“4’dzdz.®w sy4 dzf O

Y dzsds 5 Bazsel: 3,57 3.5 3.48 3.54 3.56

58



v OB dZi3y ©
49 BHAZOW IsOBdZdyd tyjdSd ydlksOolsjdavdkd d S j tols(
fcsdzyj dedw BdBdZdSBlsj Yydzs?2 EkEMmdzkzed

1 dBdzd 5| 1 d B dzd 5§ 1 ts
qas. | wer wgl ougfa |40 “lY sonng
1 j dzd dzfp| ¥ dztsh j M yJ dzts ¢

ydll SCfy vdils| CSmyd[SSf vydCClyd[¢¢
1 Odzdydj ¢eOtHj 377 385 383 373|397 3.64] 381| 3.67| 384 3,72
[bdzsh jdad j o 4 3,69 3,55 3,55 3,75 3,64
fsfjlsdlj ds 3,77 3,85 3,90 3,93 3,86
s sBY tstels dats fls 3,58 3,73 345 3,58 3,59
UfsOd dscs L ©Od 366 3,80 3,80 3,01 3,79
vjhddyuj mMS oOw 3,69 3,64 3,36 3,58 357
shdzOh | dedzsmls: | 364 3,63 3,78 3,56 3,65
Cfilsjls | NS 5] 3,77 3,64 3,09 3,50 351
f Edﬁ A jéévf? s 3,61 3,62 3,68 3,90 3,70
s sBY stels dats fyls 3,50 3,64 3,27 3,50 3,48
sBh s fsdgjhjd 366 3,87 3,78 3,90 3,80
[§jtcOlsdo dztsls ! 3,31 291 3,00 3,33 3,15
9" f tsdzdgj dzd v 3,63 3,66 3,68 3,73 3,68
BdBdzd tsls j ydats?
1 Ooddudy BEWJE g3 362] o4y 173[g5| 155] ;g5 167[, 9 219
[BtsBN | dzdzOW 51 3,63 3,32 3,33 3.3 3,36
yj ezsds §5 BdZEG 55 3.59 3.48 3.54 3.56
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1 dzts €

Ctdlsjtedjo

{Ud 2¢ © ydlsOolsj dzv dzq

4 .

[ shis kg dzsfls

§ s

HsMiskzy dzsmisd § smj " Jd

25) J[ydds o ftsmilsdlsididsdz §dusdndsy te ffrdeigste 3O Yyd d tsB L
CLeOWdS,j OBl , EffizkeO®R d . H.&: orf s OwW
v OB dZtpy O
R stedBOYyds t OBl BdBddsljSd, jj coWdSj, L
jeCts, {0 dd¥WtstekOydY o&jcSt HEmst
Idedzdslkj SO 1 & BOf
1 dBdzd 51 dB dzd 15 9 yY4J d
qk. |Hdw My @[] 'Liaw%ﬁ
1 J dzd dzfn & dgtsh j fn
1 3,29 1,79 1,2%
2 1,69 1,79 ,8%
3 22,69 11,79 10,09 10,09 13,69
4 72,69 81,79 86,79 88,39 82,29
1 Ol 6z H dzd dzd ) 5,09 1,79 1,79 2,1%
RIsts@ ts: 100,09 100,09 100,09 100,09 100,09
o HdzgVW?>* . 3,65 3,84 3,85 3,9C 3,81

* dtej Hdzd 2
dzj Mtse dzOMd
syd dz¢ O

)

S s3] dels Ote d 2

fsCOL Olsj &

BdBddslsjCd §& H

fsfmjlsdlsjdyj ?

O dzdzts 3tz

Il dBdzdtslsy €O

e fZSR 2

q ds.
021Is,

6C

JoiodgnA d 8 B day & isls di usitehigilztsiz)
HOdzdz" a3 Zlso j tey H j dzd j By ts dedaty jlz' fn) teiaef iz®@ fQf | tsfy j bzl ©,

Ctedlsjtcds . Ol wOdZOR j tzls o f§ ® ) fy

C

1 4 dzd dzm € tsG t5:
ded UJ G 5 daj

fdsts 3 J§ 15§ tefdzdiy Jd

dzdL s tsyd dzf Od3:

dzO2 HY h



26) [yjdS O §fmjlsdls jvdsEdz Qc EejOFEHS ¢OB SlsT & : o' f

v OB dZthby O

[ jd" fsddshk! ¢ bhscOds 0jk edY W ce@Eassly] o
(B d&dBl] L0 1 & &Of
Il dB dzd 54 d B dzd t5 9 Y4 d

qg. |Hdw Myl w1 ’ngfvdzfnﬁ
1 j deq dzfi]® dzsh j T

1 1,69 0,49
> 6.5 3.3 1,79 6.7 4,59
3 29,00 10,00 6.7 5,00 12,89
A 62.99 85,00 91,79 88,34 8189
B A dzd dzd M 1,79 0.4%
REGG 6 100,09 100,00 100,00 100,09 100,09
TIT 3,53 3,8 3,90 3,8 3,71

* wjHAd2 (GCOLOL] & ©OMMUdkOd §6 W Skdkd] Mie, H djfs dousg)
dzj Msc &ZOMdj M H O dzdzrygs dztz Is alzf o ¥ KO} dzcks it ol dPuiztsS, te dffilsty ctedf@ M o j4 ) ks o
SYj &S O BdBdRIEIjSqd 5 HOGEEKE Stdlsjteds. 1 sSOLOk]d ©OMH

Stdi3dzj dzlsOted?2 Y wsMmilsdlsjdzj?2 ¢ dedL Sdds Bsyd dzf Ods:
1dBdzdtslsj SO dd3. 1 j dzd dg € ts¢@ ts:

e dzj ByjBddits OB SISOjIs 5 fwWisddyod

e dzj ZHtsB s, Ylsts jMls: o ftsHdets?2

e Ntetsh 5 B' t©OBBILOI! HB 21 YOMO

1= 2 (A
o (zj ZHtsB dzts, IS SHBsREIs O
1l dBdzdtslsj €O Hdzw Mmdzj 7 ~:
e )Y J dzOIsj dz dets o tsMmGtej My det § MHJ dZOIs! OB SYd d3
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H

H Odz

27) Jyd €O fsfmjlsdls judiedsd IsSstic{lOjdte O We H tisfg lbsth dzts iy Is ¢
tcOMf sdztsy j dedVv, btcOdeyf stels) e: or hj MmMtejHAz] G5
v OB dZtby ©
c dzagf dMmyrIsr 9 08 Mz dtsMmisj?2, SCBEHO HBBJteOs !
IsStcOdzf Stels ©
ldBdzdislsj O 1 s
JdB&dBBJ‘dE?EFEJHiIJ JdB&dB¢§P£§
1§ dzd dzfm§ s dzsh b Hdzv fdz
1 1,69 11,79 3,3%
2 4,89 6,79 1,79 31,79 11,29
3 22,69 10,09 13,39 11,69
4 71,09 81,79 98,39 43,39 73,69
\ OlstelzH dzd dzd 1,79 0,49
RIStsG s 100,09 100,09 100,09 100,09 100,09
gt HdzWwWw?* . 3,63 3,76 3,97 2,88 3,56
* pedd? (SCOLOL]d ©wOMMudlsOd 5 Wotktdkzd M Hdi 2 §aezfiisd.
dzj ise dzOfmdj M HOdzder d3 klse jte) HJ dzd j &Y tsdedaty jlz' ) W zQ fPef | sfy j 26 ©
BYj &€ O Bdeddslsj¢d {5 LHODwgds d3kic Efdiusdjleedds . H s 6l 7, Sists

S d3d3] dzls Oted 2

ﬂBMJB

¢

ldBdzdtslsj €O dd.

stcOdzff stecls ff dzts
H dzw
dzj s f Ot tsoCd

Il dBdzdtslsy €O

1= 3 (O A I

I g
H J

e HOd&Zj S j I Ols!

Il dBdzdtslsy €O

H dzw

steslskzOte  dzsa 2
LOG ey jd& oW d3ts 2
stcOdzny stels § dzsh s Elassied s,

dlsd
dzd dz
s
s

J 2

dzj 2
e e
qls

5 dz

SH
d

fdzd " ~:

HOdzj €6 I toiplOaagtsls O,
HOdZj S5 jROk!,
Bils §O0BCBaCd
Bdetscts §jtej asHdls!

slsH Odzj dadzts j

dzdL Sddz tsyj dzf Od3:
s

sh jMmlse O:

&2z 20 tMlsOdse ¢ O
i3d Mis

B

Hetese 5 fkkd Bl sisod
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Md sdlsy ddrddy dsite dyjjtayfrode dz' = fted My sh
dud dedz” d3d o tsL d3tsy desfylsw d3de: o' N j Mte

—

v OB dZffy ©
I BdBdzdtslsj ¢4 JdMmls! Mfjydqodz de § ftedmyf smise dzj c
oL Bsy dets s FEO, § OdgAde’ j iz dIsr , IsOB dzd ys d,

ldBdzdslsj €O 1 ts
L B d&d sl qﬁfzgffJ KL dzq’tsd3u®cjm£tg
1§ dzd dzfm§ s dzsh b Hdzv fdz

1 4,89 5,09 15,09 6,2%
2 8,19 8,3% 15,09 1,79 8,39
3 35,59 2509 16,79 16,7% 23,69
4 32,39 38,39 20,09 80,04 42,69
) Ols oz H dzd dzd ) 19,49 233% 33,39 1,7% 19,49
RIstsg ts: 100,09 100,09, 100,09 100,09 100,09
b to ] Hdgv W * 3,16 3,26 2,63 3,8( 3,21

* wjHA]?2 (GCOLOL] & ©OMMUdkOd §6 WStkdkzd] Miej H djjls dousg)
dGj e &ZOMdj M HOdd & ko jtex Hj dad j Y s dedaty flz' ) Bz 2@ 1 | sy j bzl ©
5Yj &S O BdBdIljSd 5 HOGBEEE Stdlsjtds. 1 s8SOLOkjd t©OMy

stsd3dzj dzls Otcd?2 ftsfMmjlsdlsggdzj 2 € dedL Cdds tsyj dz€ O
1dBdzdtslsj €SO dd3. 1 j dzd de € ts¢@ ts:

e ftOCIdyi MSd ddujcect dzjls

1 dBdzdtslsj €SO Hdzw HJjIsj2 d ¥ daetsh jfMlse O:

o dz tsBEStolkzH tso Odzts

1= 2 (O A

e dzjIs ff jtoddz

o Oz tSBBWZzHBY Odets, dajls ftedmt smtse dzj dzd 2
1l dBdzdtslsj €O Hdzw Mmdzj 7 =

e dzjls dzdWIsO

e Istsdz! €5 ff jtod dzO
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{ud det o

1 CMY J els Odzqd

HsMiskzd dshisd df s " .

v OB dZiBy O

35) [yddfo (¢ jcekBhttrmfhltcd Yddl sedsOydd -
CteOWdC,j] OBl , ezmMaZd@®T of Is. H.
I B d&zdslsj SO ] 5 BOf
qudzqtsLs"ng'fvdzﬂtj i, |1dscds o udd
w
1 dddeng y pen gy Hdzv  fdz

1 9,19 9,19 8,3% 6,49
2 7,7% 8,39 4,39
3 18,29 4,39
4 92,3% 90,99 72,79 83,39 85,19
RISSE5: 100,09 100,09 100,09 100,09 100,09
b 1o j H dgWw W * 3,85 3,73 3,55 3,56 3,66
* HtojHdd?2 §COLOLj & ©OMMudkOod s Witk dzdj

dzj Mtse dzOMmd g

syd dz€ O

BdBdzdslsj S §t

H O dzdzts d3kz

Ctodlsjted® .

_ : _ G ( fdsj H degfds dditsq |
fl HOdzdz' d3 Bklso jtex HJj ded § WY &Ry fz M) Haf zO@ P | Sy Hz ©,
] 5COL Olsj dz!

v OB dZiPy O

36) [YjkEO {CMiGGbomdd edk ol @8 WO S Mt Hdzj 2
L (B & Bk] <O I & &Of
qudzqstsg‘ngfvdzi'f wpg, |1dsds o uJd

w
JJddeZﬁ]gsdztsthn H dz fn dz

1 9,19 9,19 8,3% 6,49
2 77 9.19 4.3
3 30,8% 36,49 54,50 3339  38.39
4 61,5% 45,59 36,49 58.3%  51.19
REGGC . 100,09/ 100,00 100,00 100,09 100,09
TN 3,54 3,14 3,14 3,4 3,34
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37) [vydjdafo (MY jtbPBttdEsttld Pz 20y HEMiskzY datsfls!
COMY sdztsy j dzd W, élstc ®@dzftf ts thyls)j H dzj 2
v OB d&BPDY O
ldBdzdslsj €O 1 5 B3Of
qudzqtstsg‘HgZ?vdzﬂ‘f wif. |1dBeds ® uid
w
J;dzq’dzfr]gsdztshcifn H dz fn dz
1 7,7% 9,19 8,39 6,49
2 18,29 41,79 14,99
3 36,49 33,39 17,09
4 92,3% 90,99 45,59 16,79 61,79
RIsts@ s 100,0% 100,09 100,09 100,09 100,09
b tc] HdW W > | 3,77 3,73 3,27 2,58 3,34

tGjHdGd2 (GCOLOL)d ®BOMMUJEOd [ WoBLHBEE MNij A G dosg
dzj e &ZOMdj] M HOdde o3 klso jtox Hj dzd j G5Y ts dedaty flz' ) Haf 2@ i | sy j bzl ©
SYEC O BdBdzdsljCd §t5 HOdGBEEE Ctdkjteds. 1 860L0Ljd tOMMyd

38) [yddtco LMy jtebOoddudted Bty Oodz d' = ftedmf st
¥ Hj2 M BEteOdd ) dede’ d3de :o tsfip tegony diasfn s W d3q

v OB d&fly O
Il dBdzdslsj § 0O I 5 3O
Jq’decfislsJJngsvdzir.s wpf, |1dBaqs oY d &t
Jszq’dzfr]QdeishJ}ln Hdv

1 7.7% 27,39 18,29 8,39 14,99
7 30,8% 36,49 45,59 27,79
3 46,29 27,39 27,30 16,79 29,80
4 15,4% 9,19 9,19 75,00 27,79
REGGEE: 100,09 100,09 100,09 100,00/ 100,09
T R 2,66 2,14 2,27 3,58 2,7C
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3.9

LEOWdS

goBSHA 2 CEOWdS syjdSd (shmjlsdls) dvdd sBkOfnlsd

Hisfiskzf detsfylsd § sfyj M J dédife j B dizgf fizd tslpjj dRCofd )

3,7
35

3,3

31
2,9

2,7

25

3,8
3,6
3,4
3,2

2,8
2,6
2,4
2,2

[ sMlsky dsMlse HsBdZ 2 CE@WdSedlssicd OdDdzPYd j MY 1
qd2 st BOYqdd GHOB IS Hefisky dsmisf ey sMss dz
Eyted yHJ ddd

-1 dBdzdslsj €O dd3. 1 j defdzifBEEtsSIS] SO HAdZY HJ
3 1l dBddBlsj €O Hdv Mmd
-1t B3OMMdez o yj dasds:

] OV d¢

HUoBH 2 CLOYJdS (GHIS@ERT YORMOB| steso HEfis kY dzts

BB dzdslsnGHdrndd) sy dtd)

!\

— _——A
Nt;’/ AN
’ %_ <\

N—

N\

i

[sfskf dshr s dF 2 ¢ wQWfSdlssEdOd dOtd ud

gd¥ stedzOydd OB SIsT HisMmiskz desisit j yd Odz dz
Zutej yHjddd fedmyf shsed
——1 dBdzdtslsj SO dd3. 1 j fdeiyBEasls i SO HdY HJ

g [ 1 dBdzdtslsj €O HAv Mmd

=¢=1t5 d@ZOMMdek o yj dzsds:
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1 sfjisdlsj dzd :

l.otetseo jdz bEHGodzjlsotstej dzdatsiilsd  tsfjlsdlsj dzj :
fsmihjdedw j Mmtcj Hdzj G 15, ZOr B OMWf Lo 4L dz@
B Odzdzts o .

2.1 sflskqf desfls! d ezt @B BB ISl Sd Yy
fMeh jfise j dzgdz' © dzOtej SOdzd?2 ofj B ydlsOlsj dzw
3. 6O dS OBl otMftedddBOjlsmw ¢OC kHE
oL i3Sy detsfisd ijBjyL deA\FhisiHedE R, ) f tots dzts dzg d t
1 s Isdlisj dzd yahjjdzd dgfd  Is™ o O¢ Is  Mdztsy detsfyls d

LOdaW stsfyls! , EZyY BO) .

4. s jotedIststed Odz? dzOW Htsflskzy detsfls: , S OC d o
[ Oy sdzOdz! dets?2 BdB dZdtSISj € d: Btsdz! h d dzfls
HisfMiskzy dsisd. { OMY tsdztssjjdeddr J( ded3. y i dplsltefjdzm!
sOCYj] or MesSHsMbskzfd , atlkw t©wvH Yydbo
steOdzemtf stelstsds. 1 tsMmjlsdlsjdd BdBdIBISj Sd H
fzsy desfylsd S OS¢ o Mddkzk ©lsH Ok ddshisd slis
WEdS ydsdzD @ e EHEtcO (HOdjSt s iMsOdss ¢
fMdzsy dzr | jtojCtejMmisCd, btozHdes tsted j dalsdtets

5.2030% ftsfMmjlsdlsjdj?2 BdBddtslsj¢ (Sttdj M
sBiOh O¢ls o ded BOdedj dzO dzOdzdudy M jydOo
56 tcOdzd 4 daids daEts ) detsmis W d3d . [ MlsOdz' dz" | 9 5
mME . J HeMmMiskzy dz" J Hdzw @ RBOdzsdssB ddz dz" = €
fsfmjisdlsj dzd M j ydOdzd L d tets 9 O dzdzts 2 BdB dz
ddsd & " d d3d pw 9 dzj 2 HEftsdddlsjd d" & §td

6. utsntcOdz § Igfgay d Ws § daHs dzj | dzdL € dn sy dats &
BdBddtlsjSd dd. 1 j dzd &S sets.
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Ciy j olsT :
Ltctse jdg@ tyjdzdo Odedw 1+ CMff jtelsOdzd HBMIsE{ dz

orhj MmMtjHdzj 65, dzOR 8H Bls g oF LodsQ@ WIsdpdir
 sMiskf desmis! dGERBtsls@EZOBdd dad tslsj ¢ tyj dzd o C
BdBdzdlsj Oz (SO0 d ydlolsj dv dd) .
.10detsdzj §j bkHtsBd 2 CctOWdSE tcOBiAsise d B dfdsts Isd;
Il Jjdzddhttsets (9 Its oatejdd" €COC ydlsOlsj dzd
Ykzls! 34 dzaj 4 H@iltedzEA)B kZautelg ™y HY) dAd W &3 tsfsB ' A
. GOy jolsT syd dz o' Mt ByjddoOsls Isjtts
tcOMmY sSdztsy j dadz" n Y J dzls tc j-¥ qzt€ OJsT @ vz tf tc & P dz(f
Mzsy dzgs?2 o dHWwWIls MdlkkzOyds 4§t EZHOdMzj dzdzH dgV ¢
mMdzj fr a. ( Mdzd o MfjydodzdL dtetso Odzdzts? B (
mMdzOetsodHwhdas yYydlsOlsjdzj 2, Ists s [ JdzOyd
Slsdzd yoj smv i fscdydd §smjlsdlsj dzj 2.

. CCMY jolsT sy dzd o9 O8 Is BdBdzdlsj ¢d co¢

f s Wj dddOIsjetstcdw dsd GOy HOdzE ) BcEtoOdzedy
ydlsOlsj dzd , ) dzOdB tsdz' h j 2 Misd 4 dzd Bdzgd
BdBdzdlsj S HdAdv Mmdjfr -.

. Bt OdaY J sw  IsjdeH j dzgydVw Btsdzj 4 dedL S e By
fsmilsdlsj dv Bd .

)

N
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v OB dBRY O
Isdlsj dzv d&3d tsB dzOMls dzr
hjddy BdBddtsls) ¢d

dB ddt S
5. |wazr wgl e g |} G0 F0TE sonng

9 Ydd

b

[ smiskz{ dats

s
a2 s te RO fs
gum 5 E.BJ- }.ﬂzg g | 3,65 3,84 3,85 3,90 3,81

©0B 5ls'kz fdk ¢ O]

VHEsBdz" 2 GtcOW
OB SisT 3,53 3,83 3,90 3,82 3,77

vjedlssedOd
Hisf)ls 2§ dats fiyls
£ OMY dztsy j dzd W 3,63 3,76 3,97 2,88 3,56
ste Odz Y Stels)

1 Odzdudd MY Jy

tc smtse dzj d
gzs gj]g E 5 Q #G @ 3,18 3,26 2,63 3,80 3,27

de" i3d o 5L IsBEdd

[ BBBBN j dzdzOVW g

yqlsOlsj dzj ? ) 3,50 3,67 3,59 3,60 3,60
BdzsC 2

v OB d&BBY O
49 BBHAdOWV sOBdZJYO tyjdld 1M jtlsORkd f OtcOd] Istot
BdBdzdtslsj € d

1 dBdzd 51 dB Az 1S 1 ts
qas. wew wglugga |y G0l d sonn

1 j dzd dzfy & dztsh j ) 9 YJjd
 smiskzf detsfls -
dz¥W tstc &3O [
clz[q&cj N 334 ?JZS'[ g , 3,85 3,73 3,55 3,58 3,68
tcOB BIsr , kMmdzl
VHisBdz' 2 GtcOW
tcOB SlsT 3,54 3,18 3,18 3,42 3,34

CjtedsttedOd
HS s 2§ dats fls
£ OMY tsdztsy j dzd W 3,77 3,73 3,27 2,58 3,34
stc Odzt stels)

1 Odzdudd MYy
ftod My smtse dzj d

&5 Hj2 f) CteC 2,69 2,18 2,27 3,58 2,70
dzr 3 o L Esy d

[ BB j ddzOW 3

L CMY j elstse 9 3,46 3,21 3,07 3,29 3,27
BdzsC [z :
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v OB dRBfy O
4o BHAZOW IsOBdZdy0d tyjdSd ydlsPBts amliidtc o € Hifls ot
fsMmjhjddy BdBdISIS] C

1 dBdzd 5| 1 d B dzd 5§ 1 ts
qas. | wer wgl ougfa |40 “lY sonng
dzd dzfp| & dztsh j M Yy dzts o

1 d
vdlccm vydd Ccfvyd(Scf vydESSiydicsn

[ My dasmis! d 3,85 3,73 3,55 3,58 3,68

sB EZytjyHJddd 365 3,84 3,85 3,90 3,81
OB slsdzz ¢ @d) d

VHEBSBdZ" 2 ctOWq 353 354 383 3,18 |390| 3,18 382| 3.42| 377| 3,34

sjiedssd Od' d 3,77 3,73 3,27 2,58 3,34
HsfMis kY detsfyls?  (
COMY sy j dzg w ,| 363 3,76 3,97 2,88 3,56
st Odzin g ts

tcls)
1 0dzdy MY 4 ydog 2,69 2,18 2,27 3,58 2,70
sB dz

to s | dz
gzs ﬂ?g ffg s Q ;‘Goﬂ 3,18 3,26 2,63 3,80 3,27

o ftsL d3tsy dets s W d3g

[BGBN | dadzO" 1 3,46 3,21 3,07 3,29 3,27
Yjdsd (5 Bdsg 350 3,67 3,59 3,60 3,60
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1 dZ5C SCtdljtedjo 5z Of Bih @ j &y desflsd B

{yd o0 fmilsdisjdvBd HIWIs]d dsfmisd BdB

femilsdlsjfdidd ¢ wdldfgdeisse, MfJydoddHf
5

or Ms¢ Ow

o
J 2

29) [ yd des
fsmjIsdlsj dz
v OB d&BHbY O

[lsLror Hkedh §smjldlsjdj2, Mfjydoddnksdsh ©a:
shdzso detsdy mtstetsh dj

L (B & slsj €O 1 &

L dB dzd ks qsfgffJ TRRIKE mqs*uoimgg

1 J dzd dzfn § S dgrsh § il Hdzv fMd

1 1,69 0,49
> 1,79 0.4%
3 41,99 3179 13,39 83U 24,00
A 51,69 60,04  75.00 88,39  68.69
| Ok ehddiE)! B¢ 4,89 8.3 10,00 334 6.6%
REGG 100,00 100,09 100,00 100,09 100,00
b to ] Hdgy W 3,51 3,64 3,81 301 3.7/
" wBjHR]2 (GECOL06] & BOMMUJSOd (6 ¥eedrd Mo, - &l diusg
i MG EOMA | M HHQEYG o bap) jdBy dzq L ¢ O SErgsdzS O 5 PG d ', dss
5Yj &S O BdeddslsiCqd 6 HOGEsHE Ctdljtds. 16C0L0Ljd i60MM

30) [vyddCo f§smilsdlsjvdasgdz]dstodsds)jtezfisds: § shj oJ dzd J
Yyjdzsdze: or mMsC Ow

v OB d&Bby O
[ dzgj detcOQodlsmw HtodrtsHdIls! o 1Iskz BdBdZItSIS]j SR, W {1t
sBfdzzy d o O¥ Is

I dBdzd 5] C O 1 5 KO
1 dBdzd 51 dB dzd 15 9 Y4 d
qB. |Hdw My e[f ‘ng'fvdz%g

1 j ded dgff ¢ dzsh i
1 1,6% 0,49
2 1,79 3,39 1,29
3 21,09 6,79 3,39 16,79 12,09
4 77,49 90,09 93,39 83,39 86,09
) Ols oz H dad dzd ! 1,79 0,4%
RIstsg ts: 100,09 100,09 100,09 100,09 100,09
b tcj HdzW W 3,74 3,9( 3,9( 3,83 3,84

stz dzZls Otcd?2 fftsMmilsdlsjidzj?2 € dedL Sddz tsyj dzf Od3:
S
e BBdzse s B dzzmMtse d dzj HStcOBSISESC
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¢ O f sfj Isdls jsdedzfdy J Spdscpldsj Wsnidsdlisj dzj 2 o B (
ts

v OB d&Rry O
[ dzgi SOy jlsmw, ylsts tsBr ydets o BdBARZIBI|jCJ HBo S dats
dzé Hj 2
I dBdzdslsj S O 1 & RO
1 dB dzd 54 d B dzd t5 9 Y4 d
qg. |Hdw Myl w1 'Lijw%ﬁ
1§ dzd dafr & datsh j f
1
2 8,19 6,79 5,09 10,09 7,4%
3 46,89 20,09 36,79 35,09 34,79
4 45,29 71,79 58,39 53,39 57,09
) Ol ez H dzd dzd 1,79 1,79 0,8%
RIsts@ ts: 100,09 100,09 100,09 100,09 100,09
g tc] HdW W 3,37 3,66 3,53 3,44 3,5(

* djHdd?2 (GBCOLOL] & ©OMMUJOd (6 Wskdzd] MnNiej H djs o)
dzj Msc dzOMmdd M HOdzdz' 3 klso j o) HJ dzd J BY 5 dzdzly pz' ) telzef dzOHQfdpd t§mz) Hzlo®
sYj &S O BdBdRIEISjSqd 5 HOGEEKE Stdlsjteds. 1} s8SOLOk]d ©OMH

s3] dzsOted 2 tHtsMmjlsdlsjdzj?2 € dedL Sdds sy dzl Ods:
1dBdzdtslsj €SO dd3. 1 j dzd def € ts¢@ ts:

e (3G dzs BrIs! d BtSdZr h §

dzj 3dzse s, dets o L Istsd3 dagjls oddzr BB AZdESISy $d
fsmj A sglags, dHY s Hdzdlsj dz' dgr 2 toj s dzls

1= 3 (O A I

e 9 BRkHdd dzgj LOS I
Il dBdzdtslsj SO Hdzv Mdzj
e 9 MYy HYwMmMjhjdedj B'" dzts BOdzs ydlsOlsj dzj 2

¥ d d3dztsc ts

L B
m
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[YjdS O 1Sy jelsOdd Hjwlsjd dsfilsd Bds d

39) [ vyj des LEMYjeb@sd " Gudsj g™ Isg dz dzs fiplf § Oapd df R
orhj MmtejH 4 2
v OB d&BBY O
ldBdzdslsj €O 1 5 B3Of
qudzqtstsg‘HgZ?vdzﬂ‘f wif. |1dBeds ® uid
J;dzq’dzfr]gsdztshcifn Hdzv fdz
1
2 1, 7T% 18,29 27,39 8,3% 14,99
3 38,5% 36,49 54,59 50,09 44,79
4 53,8% 45,59 18,29 41,79 40,49
RIsts@ s 100,0% 100,09 100,09 100,09 100,09
Htc] HdW W > | 3,46 3,27 2,91 3,33 3,26
* HejHdd2 (SCOLOL) & OmMMudkOd § W stdzd) Miej H dEiAs dosg)
dzj se dzOfmdj M HOdzde' d3 klso jte) HJ dz2d j B ts declaty iz’ ) Hae iz @ fPf | tsfy J Hzle ©
5YJ &z2$ O BdBdZdlsiSd s HOdds®RE Cttdlsjttds. 1 cC0OLOjd ©OMM

40) [YjdSO 1CMfjelBhaotcfeied? s : £ iPfjj hisdsion dz,

v OB d&BPyY O
ldBdzdslsj €O I 5 B3O
qudzqstsg‘ngfvdzi'f wpg, |1dsds ® uid
w
JJddeZﬁ]gsdztsthn H dz fn dz
1
2 7, 7T% 18,29 27,39 16,79 17,09
3 53,8% 36,49 63,69 25,00 44,79
4 38,5% 45,509 9,19 58,39 38,39
RIstG s 100,0% 100,09 100,09 100,09 100,09
b tc] HdW W 3,31 3,27 2,82 3,42 3,21

41) [YyjdS o {Chmyjecb@iBgh O s d v i e dod &'lsjj Shyftc j H dzj

v OB dzd y
I dezdslsj ¢ O 1 5 KO
Jq’dedtslsJJngsvdzigs wif, | dB &g o uJd
Jszc{dzfr]SBdZBthn Hdzv  fdg

1 8,3% 2,19
2 7.7% 18,29 27,39 12,89
3 61,5% 54,59 72,79 66,79 63,89
4 30,8% 27,39 25,09 21,39
RsSE5: 100,09 100,09 100,09 100,09 100,09
g tc ] Hdzgv W 3,29 3,09 2,73 3,08 3,04
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42) [yjdtco M jicbOdBqd &z b bjcpdatizsis: §sMmjlsdls] dzj
Eikkzce 2, mtslsdjskilsood M jL Giffts j H dzj 2
v OB dZ@Py O
ldBdzdislsj O I & &Of
qudzqtstsg‘HgZ?vdzﬂ‘f wif. |1dBeds ® uid
J;dzq’dzfr]gsdztshcifn Hdzv fdz
1 18,29 9,19 8,39 8,59
2 1, 7% 18,29 8,3% 8,59
3 46,2% 45,59 63,69 16,79 42,69
4 46,2% 36,49 9,19 66,79 40,49
RIsts@ s 100,0% 100,09 100,09 100,09 100,09
b tc] HdW W > | 3,38 3 2,73 3,42 3,15

HEjHBR]2 (GCOLOS) & ©wOmMMuUudlsOd (& W stdzd] MNtj H dfts dousg!
dzj Msc dzOMmdd M HOdzdz' 3 klso j o) H s gathf WY s dkdzly pz' ) Ezef dz@ iPef | tsfy J Hzle ©,
sYj &S O BdBdRIEISjSqd 5 HOREEKE Stdlsjteds. 1} s8SOLOk]d ©OMH

43) [YjdS O LS ch@bBdss tuslstd st Oodwy i hyls Lijte)+

v OB d®fly O
ldBdzdslsj €O I 5 B3O
Jq’decfisls'JHcézsvdzir.s wpf, |1dBaqs ® uid
Jszq’dzfr]QdeishJ}ln Hdv

1 9,19 8,30 4,39
> 7.7% 18,29 8,3% 8,59
3 38,59 36,49 45,59 25,00 36,20
4 53,8% 54,50 36,49 58,30 51,10
REGGEE: 100,09 100,09 100,09 100,09 100,09
4G HdgV W 3,46 3,36 3,1¢ 3,34 3,34
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lTeosHT 5 BdzcCEk ¢[BhOW BYyjdEO HJjWIj d c
| eOwg ¢
HotHOE 2 CLOWdS yjdSd amjkdlsj dv i B &OMSd A
syd &z d HJjWwWIsjdzt desfplsd BdBdZdtslsy € d
4
3,9 4
’ \
3.8 —_— -
37 ~—~ \\\ - =
\ \ —

3,6

3,5

3,4 —
3,3 . .
VHBBo dzj Iso Btej dzdztsfiflds'L m o7 L €My j estsded yd Mlso s § M
femjhjddid sde @Iy udOdedimistse, §sMjlsdlsj dj?
yd dazs &3
—-—J dBdzdtslsj SO dd3. 1 J exfdzifBEAtsls] SO Hd™W HJ
=3 I JdBdzdtslsj €O Hdv Md
1t BBOMMdekz o yj dzsds:
] tOWld €
sotsHAzZ 2 OV dE tyj dPQc O ®BiMYtgtdcads O=tph j 2 tsyd dzg€d H
BdBdzdtslsj €d
> * —_ »
33 - - \\
3,2 o o a7
3,1 — ko {4 - %
5 - US_ :T; Mﬁ
Ay I el . 8 =
27 = — o0 S = A . = : o
, a _ -§-§ﬁ 8 v 8 = S
8 g - 2 o 8 o5 0
N D (O
x =z .c'g -—p X . -B
m% '—b'—bb - = Qc <
-E)G) o Q£ NG Em
=0 £ _— S oo
0 b — T
=}
——) dBdzdBlsj €O dd3. 1 J élfdzgBeislsj] SO HddW HJ
g [ ldedzdBslsj €O Hdv Md

==l BOMMdekz o vy,  dztsds:
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1 sfjIsdlsj dzd :

1.utetse jdz2 BN j2 tyjdSd famjlsdlsjdyddi Hj
9" MsC d2, dzOR tsH JIsIWI od L dAO g saddBtEY B, 4 B O

2. 98% tfftesh jdedzr = ErtsHWIls dL BdB A& €YY dd
tcjLlzdz sOOdBBd (86 % § sdzdetsfils! 8 [z H miofigk] tste Jt
ZHtseo dzj so stcj dzr ) .

3. [l sCtezyOshdrn d#rHj2, Htkzedr ftfmjisdlsj o
fndzr h Ols ftoj ddizslzh j Mise j dadats f sdzsy dlsj dz' dz" |
Mils ©dz¢ d © O dziwdzdn odzj fipCOAsLAT o0dD dzd W d3d .

4. ydlsOlsj dzd Blsdzj yorsls, vybkts BdBdZdljSd {t
SHdZOCt dzgj dzr LW GEoattedls! t Istsdz, Yt dz
d3j dz' M jdedj yudmdazO ydlsOlsj dzj ?) .

5, uBntcOdg™ jIsipw  Isj dzH j dzyd VW BESdzi §J d&L & ds dzdsa
dd3. 1 Jj dzd dzm¢ 56 5.

CCMiy j tolsr :

l.vtetseo jdz@ tsyjdeCd + S jtolsOdBd H jiwelg jhdg' disdnls
Hdzw BdBdZdtslsj ¢ d dd.-¢ dasjh dpdnfists eds , B dHBj B Is
(LdzOyj eBdgws H,L0 4 oBLdBsyde m BOdzdztsoe ) ; fn
BdBddtlsj ¢d {3, &zOwPdafirsel ,. 7

2.0 jtelst Mydlsosls, ykt §t ofMmjdk §sCOL
fsCOLOIjdzd o HOdzdztsdz B dzts€ § Ctedlsjtedj o.
fsmjlsdlsj dzj?2 HOddks?2 BJdBdISljCd.

.1 dBdzdtslsj¢d, f§t ddzj dede 1 St dlsdadzr A dig e
CtedlsdS s, ftsMmjlkdlsjdj?2, o ufR.

4. utsnatcOdgv jJIsfw IsjdzH jdzydw BBdzj J dedL S dm BY

77



v OB d@Ry O

HOBHABOY kOB&RJUO BYjdkSd §oMmjlsdlsj v dd b dkOflsd
SYjdeSd Hj"isjd desfmisd BdBddtslsjCd
1 dBdzd 51 dB dzd 5 1 s
qas. ndw wjlugfalyGnFl Y sonng
I j daC & ¥ desh j T Yj s
VHtSo dzj Iso tstcj dzdats f
fsMjhjddjd Bdsd 3,74 3,90 3,90 3,83 3,84
Yd dzs a3
flrrer 1 tmyJelst 3,51 365 381 3,91 3,72
MfdydoOodadmisse, ' ’ ’ ’ ’
stdzdud mMisets ¢ sy
el e 3,37 3,66| 3,53 3,44 3,50
I BtsB M j dgdzOW sy d
Lqe okl Gia 5 4l d 3,54 374| 3,75 3,73 3,69
v OB d@By O
HOBHMBOW IOBdRJYO Byjd&Sd {SMijcsokd § OOk sti:
BB dzdsisjCd
Il dB dzd 5|4 d B dzd t5 1 s
qds. | ndw wjlugfalyinFl Y sonng
1l j dzd dzfy & dztsh j Y J dzts
I 5L gy desyls! Mg 3,46 336/ 3,18 3,33 3,34
SlsL ™ o
{Mmojhjddj HIWI]
ele’ Tosiwdeoudy 3,46 327| 291 3,33 3,26
(L' o' CtdkdS so 3,31 327| 2,82 3,42 3.21
LHBO dzj Ise tstej dzdzts fi]
f sfyfjlds &zj 2 S OL O 3,38 3,00 2,73 3,42 3,15
bk e 52, Meslss j
I sfjh 0] Bsmis: B d 3,23 3,00 2,73 3,08 3,04
{BBBN j dzdzOVY tsyJ d
5 wed (5 b aBe 3,37 320| 2,87 3,32 3,20
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v OB d@fy O

uoSHdOW kOB &ZdJYO BYyjdl dj gBoaGE | OGP B stcsH]f sB M |
HiwWlsjd desfplsd BdBdZdtslsj €
1 dBdzdts| 1 d B dzd 51 1
i 1 dB dzd s
g | wdr wilougfa |90 sonng
1 J dzd dzfp| ¥ dztsh j M yJ dzts g
Yydl SSC vyds SSMmydlSCf Yydls§S Sy dlS <
I sL B3ty detsfls ' & | 346 | 336 T ais | 3s3 1 2m
SlsLr or
{Mmojhjdady HGYW ] ] ] _
9 ufRrR, HlzBddy L 3,27 2,91 3,33 3,26
[Lroar (ydlok
CtodlsdStsp, 4 Ch 351 331 365/ 327|381 2,82| 391| 3,42|3,72| 3,21
VHtSo dzj Ise tstgj dzd
femilsdlsj dzj 2 ¢
b ¢ 52, Mtk 3,74| 3,38 3,90 3,003,090 2,73| 3,83| 3,42|3,84| 3,15
LOf el
1 sfd M OJ Bsis!
8B d&dslsj S d 3,37| 3,23| 3,66| 309|353 2,73| 3,44| 3,08/ 350 3,04
[ BtsBN j dzdzOW 51
Yj dsds f 5 B ds S 3,54| 337| 3,74/ 3,20|3,75| 2,87| 3,73| 3,32|3,69| 3,20
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tOLHjd 3. wtolunfaritd JAtdsodf VP LIsd1
| oWy S
voBHOY 2 CLOWIS MiejHddn Gyj dsS §sfmjlsdls]
4_
k
1 : : : .
I dedzdlsj £ P dassls j COuy iy 1 dBdzdslsj SO Hd
I j dzddzmS sesjlsj 2 fdzj 4 o
8 dztsh j Mise O
BfBhOY Yyjd O HJWIsj ddetifisled dzts i ls ! ftsmjnhyJ
Os sy stelsdasfyls: sy h jAdedsH j oy Odzd j HJ W lIsj dz
Ot d Mztemdesy e iMYyjujdd) HJWIsjdz desfisd
| tOWlg ¢
soBHAZ 2 cttOWdS MjHddr tyjdetsE + CMYf j tolst
4_
3,5'/ — CL
3
251
» 1
1,54
1

L B ddslsj YO dafdslsj C @ [ 1 dB dzdBslsj SO Hd

Il jdddamtseaglsi?2 d mdzg 7 A
6 detsh j lse O

Ostsd®Y stelsdsfls: §sfjh HdedsH j oy Odedj HJWIsj dz
Or siskzf desfils! §mjhjdfw Metemdesy B MYJ Wi
B{BhOY BYjd€O HjwIsjd desflsq
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) sfjlsdlsj dzd :

1.

Rssetsor" | MtejHdzd] tyddzeSd 8 BdBdZBIS] S
Hickzg Iz. I 5 ) dOdBs dBdf dZO-BSHYISHY, 64 . H
BdBddtslsj €Jj dd3. 1l jdzddmitsets M Hdd] Sy
BsdzjJ dedL Cddsd wyJ e Ooisd ¢sijlsdlsjdzj?
fsCOLOjdzj?2 (fted + I3 oMy ¢ 0L OIljddfd
or MsC k) . Cls® dzj L d&zOydlsj dz' dzOW L Odzd ) 4 C
L dzOyJ ded 2 : o Jjdzddti ydkOlsjdzd &kzyhj :
(fitcor 2 twOdze, 3,90, Hidw d' slygdeSBzyh dj ¢ ts¢€
f 5 HtlzfgedE slsj COd3 §ad3B78s yJd dzf k2

[yidSd omirmn CObjcetted? of MsCdJ, drm te(
HdOYf OL tsdzj , Yls ts CGoatcdlIs s 9" MslE2 ts
SlsH j dz dz" n mMsmils©o dzw ¢ h d A dn Hd WiIs] dz' dats
fsmdhJddw H Odzdz’ ~ FueEPu @ Bistc v ® Y d dy
WodzW jlsfw o dgj L dBOYd BT ®Hded d i N4 JOLC
BdBdkzdslsj ¢ tyjddeOsls syd dz BdzdL € 5. ]
slsMisOe Odzdd Isjr ddzd ddzm = MsMmisOo dzv e h d A
HsMIsOIssydzets EZMmdztsoe dats.

4Od3" § orMmsS¢dy By dbd fsdizyd d fs fts
fsmihjddjd d tBhjet o&djddy 5 BdBdAIE
fsLdlsdeodesdy ot j yOlsdzj dzd d, A Stetsh jd3 1 Bt
BdBdzdtslsj ¢d. vsdzjHEZjls ftoj HY tsdastyddzd § datsg
dzj L dzOydlsj dz' dz' n f ctsB dzj O3, ts dzd dzj m
fsdzsy dIsy dz' detsy GSlsdesh jdzedjy € BB ARSI ¢ O
I dHO] dits, Yylsts ots oMmJ n BdBdzdtslsj € On d
syjdSd, s MeOodzj ded® M HWkzedBd, ( sikzkz
HyWlisj dz! desfyplsde (Mmdzady J dede" § tsyd deSd W tsdzH
Emdzke HsMlszf © ¢ Rdzlsj tedzj Is) .
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=

S jtlsr :

1 sdzr hddemlsets Ctedlsjtedjo Byjdajdzr S jtels

15 ofjjds ckffOd Stdlsjtdjsos (BdsCOk)
or MlsOo qidefslsgj kg do5. 1 j S sets (5 Glst

zyhj Gyjdsdr Htkedi BdBddtskjSd).
YUjlsr ey &5 BdzsS Os Ctodlsjtedjo §s6OL O dg

[d

B

[ dHjted B BYjdSOd ! ChYjteBdy vCasdl sl

fsmjhjddy BdBdzdtsls] ¢ .
s O¢ d fMmjisdlsj dzd, 1 CMy J telsr odHWIs
HjWlIsj dz' detsinflsd BdB dZdBIsj € .

( sB M OW PHBsO dzj Iso stc ] dzdztsls ! tsldso’ ots ¢ OH

dz.

I 8¢, ddHdthky h g2 e h P8 jusyljlsdESdt 2 H j W is | dz

O

fsmdjHd 8 Bifmisj, o bkt ostjdk¥ COC L Odg"
oW iMNdsdOd dr 2 d BSdjj OydsdoddL d1

ffsstetsdyr S jtestse (cMtstslse jlsfisalzjlse)
fsHRBHBM®R yYdls @lbzpalz fd? dzOtsfydetf | YOls dzj ded d e

] yYyjdsds s oafmMjid Stedlsjtedwadd d B dzsS O
yd @3 fsmjilsdlsyj dzd.
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v OB d@by O
49 BHAdOY OBdJYO MtejHddr tyjdtst Mmildls
JdBdzds| 1 dBdzdts| o [f 1 1 dBdzd 51 1 s
d d3. HdzW HJ Hdzw fmdzl 50MMmd
1 j dzd dzfn| & detsh j ) Y J dzts ¢
dtoj| { Ode( vtej| { Oda( & tej [OdthQ.H t Oddutcj|t Od
dZWW dZWW dZWW 4 dZW
[BhOW yj dz€ O
Hjwlsj do desfmlsg | 354 2 [374) 1 |375| 1 | 373 | 1 |369 1
 smiskzf detsmlis*+ ¢
BdBd&zdtljCd 3,50 3 3,67 2 359| 2 360 | 25 360 2
s 3w tstels tizts fizls Y J
zq’?dzdudzlsgz ﬂéfn%; 3,57 1 3,59 3 348| 4 3,54 4 356 3
4 BBHj oy Odzd |
Hiwlsj dz desfyls 3,48 4 3,58 4 356 | 3 360 | 25 |355| 4
| Mztemdetsy 5B
Ljvf\rl]lst(;]zJ dzctlsfr]lso[43’39 5 3,45 5 341 5 3,45 5 1343 5
] IRIJRJU
/(E[I.II Frlvrst 3,50 3,61 3,56 3,58 3,57
v OB d®by O
49 BHAdOVY SOBdJYyO MtejHddr ttyjdasE 1+ Sl j tols
ldpdzds| 1 dBdzdts| w1 1 dBdzd s 1 s
d d3. Hdzw HJ Hdzw fMdzl 5OMMd
1l j dzd dzfn| & dztsh j M Y J dzts g
wEj[ {Od(utj[ {Od( uti[ 1 Oh |t OGuti[t Od
dZWW dZWW dZWW 4 dZW
ts 3V s to Is ditdifrjdsy J
zq?&qsmudmf 363 1 [332] 2 (333 1 | 332 | 25336 1
dtsH jtoy Odzd §
Hiwlsj dz2 detsfyls d 3,38 3 3,37 1 3,02| 3 3,45 1 (331 2
smiskz{ detsmls
qu’g]dzq’ilscjg]q’ IJ3,46 2 3,21 4 307 2 3,29 4 1327 3
z tc i) dzts 5B
Ljvalng,]zJ dzctlsfr]lsq’JS’*?? 45 | 3,28 3 301| 4 3,27 5 [324| 4
I BhOwW yj dz¢ O
Hiwlsj dz desfyls d 3,37 45 | 3,20 5 287 5 332 | 25 (320 5
] I RI[RJU
/(E[IJI Frlvrst 3,44 3,28 3,06 3,33 3,28

83



fOLHjJd 4. t [ BUR |

I RIJRJU[ S

1 O shdztso Odzd d L C MY JacjsHigsdEdss e s tecas M@0 1 3 o &
f sCOL Olsj dzj 2 (BlztsC &Y d dojfdgle sy deOagd di3ts fipls &f W
L &20yd dssmisd BdzBECO fsCOL"90jls ojf COYHB?2
COyjmsoa © twOBKSIST Zyted ¥ HJ ded 2 Ckdz skzter .
@B tsdzj J L dzOyddis?2 ctokzffj WOCkttetse fftodfme
0,6.
stst WWdyq sts4 WWdyg
L dz2O0yd dss|{ L dzOyd iz
COjetsty COIjcty
LeffO fsCOLOLjdj?2 (Bds ci1Smijtd cfsmilsdl
HBSH jtoy Odgdj HJWIs] dz desflsd 1 0,9
{ d Miztemdigjudtiediifn HJ Wisj dz! dat 0.8 0,7
S s d3W tsto IsfdiEsditidsy § dzd W B d B dzd ts5 0,7 0,8
[ siskf dshmls! {fsfmjh jddy B 0,6 0,6
[BhOW tsyjdzCO HjWIsj dz' datsfny 0,9 1
st WWdydjdals L dzOyd dfssi§lsod r ©@g s todifp € O) H 5C
mesj 2 Gtelzt f r (BdsC O) . st WWdydJ dzls L Oo (d
H O dzdzts 2 CtedIlsjtedw fJted yJ dz J COyJ mMlsoa © tC
~nSHJ 1 CMY J telsdz ~ ddzlsj tco ' 8 ) . st WWdydJj dal
dgdd3j ¢t Is tcO@Qo detsmddz! detsy o dzdw dzd J .
v OB d@/y O
s OBdzd yoO Ctodlsjtcedjo d St WWdydj desstsa L dzOyd of
stedisjtedd s iWdy
L dzO0y d a3t
Ctedlsj to
HBHJteOdzdd (SLWWdydjddyd L dzOyd d
1. lussko jlsmisoadj MmMbHjtey OddY Emdzed MmisOdzH 0,7
2. |1 sfsdzdzj dzdj d BBBttOYydo Oj ©isMmils! BdB dZdESIS 0,9
3. [[fjwcOlsdodasils! B dzso dzj dzgd v W tsdzH O 0,8
4. [sOyjMmsots WsdHO f ksySd Lt ddY zddoj sl 1
5. |sOyj Mo ts, [kH tseffidgdofif ts offffctdd oG fdAc Ols O, o 1
6. |1 dBdRdBIS] UdzOW C sl j Isj dals dzsdy s ! ) (Y ieiomigs@idsl
Of f OOl O, Ctdmizd: sdtetse Odzd | ) 1
7. |sc®Rfjls] dEsdesmis! § ) mMsdOkO 5 Mo o] dgj dag
JLHOIjd Mlse, tj2kddE0O Oslttess, Cdda, 1
8. |1 tsorhjdedi So0dzdWdEOydd MmlstclzH dzd & Od3d 1
9. [UHBodzj bo stey dzdats M liz'H SgEs s i Hedgf § S ds s O B 1o
ko steyj MC 2 MOdSEj OdzdL Oyd d 0,9
10. [1 Oz ydzOv" dq &BjssHdU) MS OV ©OBBKO MBStz H ¢
L dzj Clstetsdzadatsds adHj), tBtsBh jdedj  fjtcjH 0,7
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11. [[tec Odzd L Oydw d EyOfmilsdi o or MlsOo syds o 0,8
12 |Vteso jHjdzdd WifplsdoOdzj?2, Ctdfbktemise, & ¢ 0,7
13. | R dz¥ tstc 30 yaptdad@diztds 0 Ols j dz' dzOv ( f tetsfo j Isd Is§ dz
My tc Oodsdgitiatstc 3O ydsdzdetsy , S tsdzimlzdz' IsOIsd o dzts § 0,9
14. |[Rdzd ydOlsdo dztsfnls! o tcOBlsi (dJdzd i ®isd o dzf 1
15. e d s j B3O ydetsfls! , § dzOdetseo sfls! oL Od BBSH j ]
sotsteud MSdd3d dzdlsj cOlslztedz” d3d tsBJ j Hddzj dzd 0,6
16. [t L Edz sOlsdo dzsfpls! EyOfmlsdw o CtdSkZtemMOR, 0,9
17. [[mMotsjdzdj d o dzj Hic]j dzdsjH tscpdzdaOms@Usd 5 dzdz” = 3 0,9
18. |1 s jJ Wtedd odzijBdBdZdtslsj ydets?2 tcOB SIS (¢ 1
19. |1 totsdztsdzG Jtetso Odzdets ] MsftotsoatsyHjdadj YJlsOls 0,7
tdMmetemdasy tejMmfjujddj (Csi-D8]ydJ
20. |\ Odzd yd 4 ¢ dzj S IstetsdzdzO8 Is t8 30 & tf ) off el s @YY ts
MdMmilsj &3, BOL HOdzdz" =) Hdzw { J tefMisdzOdzO 0,8
2l. |[stsdzdyd MmMlsets LOfdMi2 o {1 dzjSClstcsdgdesd3 € Ols 0,8
22. (Bl Jd&3 WsdzgH O tsydWtctseo Odzdzg’ » HEBCEZd3J dzlstse
¥ stcd3OIsT ) 0,7
23. (1 Odzdudd o EytjyxHidedd Htsiskzd P &d B ldzj 1| dizg
tc § fiOieis (sdzdcOWtsdzH, | Ql i b-li nedzd§ p tphyth®j 0,7
24. |luHntsBMmilsats, GBdso dzW j d@3sMmis! , W Edz$ ydsdzOdz! ¢ 0,9
25. |l toj HisMIsOodzj dzadj { dzj Clstetsdzdz’ » E-Mdzkze yJ te
ftocj HfMlsOoa dlIlsj dz” Mlsets BdBdZdslsji $d (sho2ls, t 0,8
26. |l tcj HisMIsOodzj dzgdd ftsMmilsdlsjdzvds BdB dzd sls j € ¢ 0,9
stBW stelsdasfls: (St WW dydj-di) L dzoyd
27. |lvj ndzd yd MS OW MdzOM j dzdetsMmils! ( dzO dz§ 5 B * s
Bzdz sddzi Hd2dzr 7 Effstes2Mmlse, ftotsj Clsctese 0,9
28. s 3% stelsdetsmis: Emdzsed?2 o tBh jdi3 fsd3j M j da
sfeo jh jddesils! , wlstsfdjddi, Mmojxdfks! ol 0,7
29. |[s s tstelsdetsMils! EmMdzse d?2 o yYdlOdz desdz L Odz,
tcOMmMMmilsOdztse € d Mo j PMiIs! otsLHEZRO, ydmst 0,7
30. |1 Odzdydj G OteH jtotsB O 0,5
3L. [ Odzduydj BEWjIO 0,5
32. |CMlsjlsduj M) W ttddj ddj §tsd3jh jdedw 0,7
B3.|[Isdetsh jdzdd (JtemMsdOodzd ¢ foMmildisids (o]

5. 4§ .) 1
4. | [ JtcOlsdodgsmlils! o' f sdzdzj dgdV B dB dzd ts5ls j Y dzts ] 1
[ siislzy datsfyls ! (€ t5JWBsdipd]] -aasisIC d@O Y
35. | siskf desfils! ddgW sted3®@ydd B Eytsd 3 HJ ded d, 0,9
36. |luHtsBdzr 2 CctcOWJEC ©OBBIST 0,9
37. v jteted sste Odz' dzgOY HEMiskf dsfis! (kZHtBMiso i 0,6

3. [\ Odzdudj MY jydodz dz@ » ftedmt stse dzj dzad 2 H (
o tsL 3ty detsmls W a3 0,6

Jyj g€ © Hiwlilsjdz desflsd (S5 WW-0,9d 4 dzls
30. [[Mojhjddj HjwIsjd desipsd ® swfRrR, 1§ EkBdd§ ( 0,9
40. [kt o7 CtdlsdSteo, 1CMYfjtstso 0,7
41. |1 sfmji h Oj diissMmlis BdBd&IBslsj ¢d 0,7
42. |luHts9 dz] Iso Stc ] dzdets s ! fsmilsdlsj dzi 2 ts€ Pk O dac 1
43. | ] 5L d3tsy dats fyls sMisOo dzv Is ! SlsL ™ of 0,7

85




v OB d@ByY O

s OBdzd yoO Ctodlsjtcdjo d St WWdydj desstse L dzOyd ozt

stedlsjtedd st WWdy
L dzOy d 3t
Ctedlsjts

HSH jte Odedj (S4 WWdydj dds9) L dzOyd d3

1. |sdzffkzdz! sdtetseo Odzd J , f sd3gh ‘e dnaffeso fsutkiastc ¢
Of f OtcOlsdg, W sdzH 53 0,9
2. |ssdzimlzdz sdteso Odzedj, toj Stsdsd dzH Oydd B d B dzd 0,9

3. |sOuyjMmlsets BdBdZdtslsj ydetsets WisdzH O, MmMstslso j |
WEdS ydsdzOdz! dztsfls! , OSIskzOdz! dztsfls! ) 1
4. |J 0 JOlsd o dzteidylsizd v ts & dztEa O 0,8
5 |sOyj Mmlsets, [~ tseffifddofifL ts offdfctd® o@dc Ols ©, o 0,9
6. |[UHtsoa dzj so tstgj dzdztsis! fJsMmjlsdlsjdzj 2 o' {f tsdzdzg 1
7. [lwesoa jHjdzd] ydlsOljdzz MCdrn SCwdaW jtoj dzyd?, 0,5
8. [1 OdzdaydflsOo ts¢ 0,5
9. |Atsted3" o dzgiBdBdZdBSlsj ydzs? OB IsL dzPHirzs d 0,5
10. [1 Odzd ydj detse Oyd?2 0,6
11. [ s sdzdzd Isj dz' dz" | EfmdzEed (S Ml sfdicso Of 0,5

_ tdifltefmdesy wtBifMfjujdd) ($ts1-0NJYd](

12. |{B) JytBdzH O tsydWtctso Odzde' » HBC LA dzstse (s
¥ sted3OIsT ) 0,5

13. [\ Odzduydy o EytejyHjdedd HEMiskzd @B &d B ldzj 1| dizg
tcj MztcmMOd3 (sddcOWsdzH, | QHiiln,e , vfdzdipl jmtdin 0,6
14. [uHsB Mo 5, 5B dzSwpieydpQigts st fyls 1% EigE?2 Is O 0,9

15. |1 tcjHisMIsOoa dzj dzgdj { dzj Slstesdedz” = EMmdzzec yJ o
ftocj HMIsOoadlsj dzz Mlsets BdBdZdBIj Sd (MO, f 0,7
16. [l cj HisfMisOQoadzj dzdj G tsMmilsdlsi dzvds BdB dzd sls j € ¢ 0,9

s a3 tstels dztsififisW d e jtsdzls L dzOy d0i§ismisd B

17. v j ndzd yd M OW tsMdzOh j dzdetsmils! ( dzO dz§ m Bl * s
Bzdz! sdd3j Hd2dz" - sznlststs?fnlsa, ftotsj CIststets® 0,9

18. |[s sd3W tstels dztsfyls! EfMmdzsea d2 o Bh jd3 ftsd3d M J dag
tsfoe j h j dedzets iz dzd 5, MOJXJMBJ otLHERO, {1 0,9

19. [stsdi3W stelsdztsls! EfMdzse d2 o yYydlOdz desdz L Odz,
cOMmMlsOdzso € d, Mo i jMmMl! otLHERO, ydmbksl 0,9
20. |1 Odzdydd cOtcH jtotsB O 0,6
21. |\ Odzdydj BEW O 0,5
22. [CmsjdujmMSts] SWstedRd) ddj §sdjh j ddw 0,7

23. | [ gsh jded i § jtemMsdzOdzO ¢ ftsMmjlsdlsj dz® (9
5. . ) 1
24. | [ jtcOIsdo desmils! or f tsdzdgj dzgdw B dB dzd ts5l5 j Y dats | 1

[ sk dsMmis! (St WWdydj-de) L doydd
25. |1 slskzf desfls! dJdaW stcd3Oydd tsB EZytej yHjded d, 09
26. |[uHtsBdz" 2 GctcOWdS tOBSIST 1
27. |[u jtotodIsstced Odz! dzOVY HtsMiskf dztsmis! ( EZH B Misot 0,7

28. (1 Odzduydd M JjydoOdz dz"@ = fHtedmf smtse dzj dad 2 H ¢
9 BL d3tsy detsls W d3q 0,7

JYyidz€ O Hiwlsjd desflsd (S$54 WW-dyd J dzls
29. | [ L " o rjt@lLdpf, M jydoOdzdmlstse, f§tsmildlsj dj 0,4
30. |luHtso dzj so stoj dgdetsfls! Y tsMmjih jdedjd3 BdB dzd t5ls 1
3l. [ssdzdujMmlsots Ysmjlsdljdj?2 o BdBddslk,Sj 0,4

86



t d2Isddzc B @A fi3ilsd I 'dofipy dsdg®@ MOCH dzd » By dzs ¢
ofmj &3 Stdlsjtedwds, oL o9 jMjdadzr & ddygizislintsdf < sl
COlsjestcd?

lteddzjte tcOMyy O:

1 dzsC 5. [y SO HjwlIs|stst WWdy| wtejHdw JLojhjoc
BdBdzdslsjCd o yjhsdk | LdOydehy syj dS( L daoyjd
Ctodljt| Stdlsjtg Stdlsj td
(SL WWduydy dds L dzond a3 fsmjlsdls
1 J dzd dz€
{IsL " or ithemy jidlsj yd O 04 3
. : : , 51 1,404
ftsmjlsdlsj dzj ?
VHtSo dzj Iso tstej dzdats fyls ¢
BBl Cd o yj dsd ! 3,74 3,74
stsdzd yj mMsets fsMmjlsdls
BB dzd k] C | 0,4 3,37 1,348
dzdizdzO oL o jh jdadz 7 6,492

[ O¢CMd &3O dz! dzr 2 tcj 2 1Isd dze (I oMmMfa30 Ctgdle) toc
MemMls Qo dzw Is+ :

e 85 tyd dz€ Odj 7%d A®Bls jsdDjddzts o

e s BYJj dzl Odf 11221 3 j21c B tOedzdzO .

1 smMisdz S ftod tOMmMyjlsy el isHaddedzteC ,B j itcls ts f
dLBjOls! odzdqwdzgdw tslseo jlstse ¢L OlstclzH dzv ¢ fdgac
BdBdzdlsj ¢ d.

87



15 dBcO® dajL Ooadmdds? ©yjdSd SOyjmissed
fsmilsdiigid2ii®ddze  BdBdzdtsls i ¢ ddijijls tsyj dz
MisOlsdmlsduimSd daiLdzOudd j ©lsddydw
v OB dZ@Py O
t J 2Isd dze Bq’deq’tslsJQJalstquszG): f s5fjlsd!
Y.
[J?lsq’uisHJthtBJﬁ]IZtessdz.WBtGl:
P D Y j Jr smiskzqf [ Bh OW 1
oA &SN, "Ei et i i)
. f o jzg 5 '; $ 51 6802 26,17 8,7¢ 19,0( 7,32 6,8
;ngzj ng[ SIS 6757 25,96 8,6 18,95 7,20 6,74
T 67,37 25,94 8,6 18,7( 7,1¢ 6,8/
I Bz 5] ¢ i
| o demC se| 0606 25,24 8,56 18,78 6,9 6,4¢
I JdsBcOd dzjL Oodmddks?2 YyjdSd §Oyjflss
LOCMmY jislstls BdBdzdsls i ¢d ddii¥ls HtsMISOIlssydzs
B Sl GO Odd) o ©j2lddc wff .
]l sHsB dZ2ZOW MdlskzOydw 5 f¢0L0OIjdzvda B(JdB dzc
Ctokff §5S0OL O] dj?2 (6OL &zdydw o fkBBo:
otsL sy dz' =) .
v OB dziP@Y ©
tJ2bkddzee BdBdZIBSISj C o tyj dS On 1 CMf j t
l Is. y. :
td Akaclusnj oyl I NEEs o s
SHJ My J I shlsky|{ B0 O
sdeddBurin i, "Ei At U T PRy
jggzgzgzagéi 104,31 55,64 15,04 15,16 6,31 12,15
;ngzj ng“f’lsflg 103,81 56,8 14,74 14,21 6,0( 11,97
;?E?g‘sﬁif 101,75 55,5 14,76 14,11 5,86 11,48
w1 92,80 50,0( 13,59 13,33 5,67 10,31

88



L oW S

td2Iddze BdBdZdBIsj ¢ o YyjdsOr §tshmjisdl
(oLojnjdedz § ByJ de d)
70,00
6,49 6,82 6,84 6,78
60,00
6,95 7,32 7,19 7,20
50,00
18,78 19,00 18,70 18,95
40,00
30,00 8,56 8,70 8,65 8,66
20,00
25,29 26,17 25,99 25,98
10,00
0,00
66,06 68,02 67,37 67,57
1 dBdzdtslsj C|O1 degzd sils j C|O H dev[ [ 4 1 dBdzdtslsj §|C
) jdddzmS seGlsj2 d ¢ deshjflse O fdzj §r 7
OutsHjteyOdedj HJWIsjdz Aefyktemdes) B J MY J Ud
Ost®kY stelsdatsmls: s h POeedeils g datsfyls:  §tsfj hj
O[BhOW BYyjdSO Hjwilsjd desflsd
| tOWlH ¢
td2bddze BdBdZdBIYy SMP j B azC OR
(oLojhjdedzr § tyd dz€d)
110,00
100,00 12,15 11,48 11,97
90,00 6.31 586 10,31 6.00
80,00 15,16 14,11 .63 14,27
70,00 13,33 i
60,00 15,04 14,78 1353 :
50,00
40,00
30,00
! 55,64 55,53 50,00 56,83
20,00
10,00
0,00
104,31 101,75 92,80 103,81
I dedzdslsj ¢ O deddzd sls j § O Hedfv [ 1 1 dB dzd slsj g
1 j dzd dzin € teejes j 2 sh jfilse O fdzj § © o
OutsH jteyOdedy HJWIsjd dsfjindztemdetsy tsB g M j ud
Os s tstels dztsny Is ¢ f s " Hdedsinls 2 f dats s ¢ f s ny

OfshOw tyj dzf O

Hiwlsjdz desfyls g

89



15 L Ezd kOIlsO®:S sy eif@uisjv &j iiss & B
| jzd S sets, BdBddBIj SO HA&Y Mdajfr s o d
Hdzv Hjlsj2 d 8 desh jMlsea O, d dzO ¢ tsfmdzj H dzj d
[ 5f)ls Olsksfiyddstso dzts sy des cE o stod s s Isfsdz,
fsmjsdis@adry O BdBdZJtSlsj CO HAzW iagbizdcsEj €
mMzi fra, [idOydssdzOdz? d&zOv BdBAZIBIS] ¢ O,
1 J dzd dzi ¢ tsG ts5.
80% wMmMildlsjdzj ? B (dB dzilz®istg@®0zf etoLdo jSyjJ dded or
orhyj [ ydes Mmydlsols: , Yylsts dd3d dzdets 1 Istsls
cOMMBsSSygjdeOB Pz dzOW C hsetlgO?2 H Sd) dz Hsfr
ftcd BsyjddoeoOddd ¢OyjMmkseaO® dr tOBBIT Mt
[ Bl Wwidzd Is! dzj S tsjls ststpjj dzs O digty | i stesdz” Y d k
1l JdzddmSsects By dts Mdzj HEe hddz sBtOL B3
e sBdzlsddze j dzls sMjlsdlsy dzj 2 H O dzaftddz! B f &
st j dzdesmisd, MewL Odzder | M Btsdzj J & dzlzs
M i ydOdzdL dietseo Odzdz” d3 ¥ L dfO dgdoists,ts B tisEOte @sLo O
e YJlsOIsj d&zd HOdzdlets?2 BdBAZdBISi i Cd dd&j®¥ s BE
Wstodizdictse Odedz a5 L Off tets fyts o, Colstster 2
slsmizlsmMisodd HBddadzd] Yyssos¢ yomists BT
BdB dzd silsj ¢ .
tctseo jdz' Odgde?) BS99 COyjmMlsolz BdBAdZdSIS j Yda' -
dedzdtslsj €d disyjls BriIs: eorhj o Mmddzlz -
Htezedr BdBAZdlIsj ¢ (okLtseamMmSdr, t0O2 tsdad
VL YydbkOlsjdzj?2 orfmMsC¢dj IbttjBBo Odzdw € d
otdsiicj Btso Odz0 ddgW sted30Oyd sdedzOv ff tesHEZEC yd
e | LHOdd BdBdIBlj $d HAIsjd dtsj ot]
¢
)

[ J
C

oy}

O¢C L OltckzHdzj dz2dv o MO  sMmjh jddd,
rHOyYd dzdlsj tcOlslzter .

e dtcjJHd yYydlsOlsj dzj 2 B dsesdsd @ IsigOoy ddsdg.dz! 1dglzdzd d
COljestedw 1 fdLsHdyiMSdes d Mdzzy0oO2 dzr -

9C



fts dBgdesedds f s5COLOIsj dzv 3 dzgj MS sdz' €5 dad
d IsjrR, Clt ftedhyd MsHO o fjteor 2 0O
sYj dz2C @D pz0 EBLOLHEB HBjde hj ddzd Mmtse
BdBdzdlsjSj HdAv Mmdjira).

v OB dziPy ©
HicOodzgj dzdj ByJ desS twOLdZJqydz =~ SOkjetsted? ftsmilsdls,

sOIjetstedw Yo
1 sy Cfdludkl) joer
cOL

stsdzmMbizdz’ sdtetso Oded § , " tod3=d O B tBIYjB -AAYHs IS
fsdmMCtseor i3 Of f OtcOIstsds, W isdzH 53 3,84| 3,58| 3,33| 4,00

stdhizd sdteso Odedj BdB ARSI COWLY 9o | 383|3,62|3,00 4,00

sOyd mMlsets BdBdzdBIj Yydetse s W sdeH O, ME 362|3,08|2,67| 3,43

[§Jj©0Odo dzsmis’ s daB@zs o dzj dad W W 3,58| 3,12| 3,00/ 3,14

sOud mMise s, EkH tseffidsdofifst s offfcteO oA Wfdes Ols | 3 72(3,31|2,33| 3,43

LHBo dzj se Btej dzdesiis! fsMmjilsdlsydzy? 97 342/319|233] 3,33

lteso jHided] udlsOljdzr MSdr Ctsde jtoj d 375(338/3,67 3,71

1 0dzdydy o' MisOo ¢ 3,69|3,46| 3,67| 3,71
NSt eodzjBdB Al Yydts?2 OB SIST 3,48| 3,25/ 4,00/ 3,50
1 Odzduydj dese Oyd?2 3,48| 3,30| 2,67| 3,43

[ B sdzded Isj dz' do' § EMmdizked ( $MitsC sy d 364|350|300 3,43

{[Bl jd&3 WsdHO BydWtttse Odedz" = HEBCEZ&J d 370(3,04|2,67 3,57

1 0dzdudy HBMiskzf O € o dad =lafdds lsfjday ds'tcdy 3 75| 3. 27| 3,00 3,50

VHEsBMIsats, Bdetso dzv j dBtsMis! , W lkdeC ydg 374|3,12]2,00 3,43

ltcj HsMIsOo dzj dzd j + dzj CIstotsdzdzr R k- dzkz g
ftojHMisOodlsjHd NGg s( @Bz § tstels Odz) 3,39(2,95|2,67| 3,33

ltcj HsMisOo dzj dedd YsMilsdlsj dzv &3 B dB dzd 383(3,36/3,000 3,71

udrndedyj MC OVW MNdO" j dzdets s 3,84|3,46| 3,33| 3,71

SR stelsdesis! Emdazsed?2 o tBM i3 §t5d 373|3,60/300 3,86

SEBW stelsdesmis! EMmdzsed2 o ydlsOod dsd 385 354|300 3,71

1 Odzduydj G OtHjsBO 3,88| 3,68| 3,33| 3,86

1 Odzdudy BEWjISO 3,00| 2,55| 3,00/ 3,00

(Misilbdud ME] i stodd] ddj §odj"jdd 362354 3,33 4,00

[ desh jdedj §JjtemMsdOdkz0 ¢ fsmilsdlsj dz 388|369|3,33] 3,86

{§dwOlssfo dpsff Sdzdzj ded ¥ B dB dZdB5Isj ydass?| 381|346/ 3,00 4,00

 siskf dtsMmils! ddat stedsOydd B kYt ) H 388|354(2,67| 3,57

VHisBdzr 2 ctcOWdE tOBTSIST 3,73| 3,50| 2,67 3,29

vujtetedlssted Odz' dzOW HEMiskY dshls! 3,88(3,38/3,33| 3,71

1 0dzdudd fedhimsysedy bz 2 ) ScteOded Y 338|290|3,33| 3,33

JLror 1 CMfjtelsse, M jydoOdzdmistse , 3,68| 3,38/ 3,00/ 3,57

VHEBSo dzj Iso Stoj dedetsfyls § s M jded j &3 B dB 388373300 357

sszdud mMsets Ysmilbdlsjdi?2 o BJdBdISIl§ 350(3,19/3,33| 3,57

91



t OLHJ dz 5.
syjdetd Ymjlsdlsy dzj ?

I yj s By des csotstedls!

TOKOCkjtedMmisdS &0 tyj &S d fsmjlsdlsjdi?2 BJdE
1. JlLtOfls
l 5L tcOMmls dzj gisj jIs BHAdSROf tcOo dzj dzdats?2 fo w
fsmisdlsj dzd B d#sdd HldjctOL OFQPUE By jIs dd3j Is!
BYjdeSk b dzsHj?2 ©OLBEEOL & yiRilso, O ¢ OCrt
e | yYjdksd, d&Odetdij L dlsdods c@eiisdipl
e [dzj dzdj] MlsOth jets S tsdzj dzdv L Ooadfmdls
syj dz¢ d B d B Gadess 1§ § Cdpj Mk §ysz o Milso 26 Is
1 j dzd dzS j -ddztmihj JsiSts? BdB 2B C ) .
e [SZBHI] fGCtdjddj YOmMks GCOL' o8 O] lsfmw
Jtc OW 16¢C
| dedwdzgdj oL tOMls dz® MtejHdzs s yjdeSk B
3,80
3,70 ~ o
3,60 - /// -
3,50 Q~ .
3,40 _ //
3,30 =
3,20 ///
3,10 // =
3,00
2,90 v

I dzd W dzefj) dIEEEOE dydeti) ¢ d W O

COyYyy mlso O tof

5 IsBd3,-H judstsc te CAOAX

1 dBdzdtslsjC O dfiegzdtslsj SO HdzY wffsi?
Jl jdzddht¢tsets d b datsh j Milse O

¢ 10--17 = 18-24 25-34 35-49

92

I dBdzdslsjC O
fndzi §1 =

50-59 -6 0 (



2. 1Gd
) sz fsmjlsdljdj?2 OSYj dj ddjjls HsL dC
Ctedlsjtedwas odzdwdzgdv kO dzj s Mo mj ds, ddzsec
e 10ftedBd s, Yt Ctedlis] telgf’* WKzdzHsBBA Is $ & §)d
BdBdzdtslsjSqd, fodzyds dkydkzt Sdkdck, do
LO dm& dz¥ ud dzifi vz 'j dafgzCagC d o N j bk dskzy W

3. [BtOL B9 Odzd |

Victse j dz2 tBOLBOOdd" ydisOlsjdzj?2 ISOSYJ dad
o MSC @V de¥tmidp2 ) or Mh dds SBELOL 5o Oded j o5, O
MsLHOjl tSftcjH]dz dedesy WHtes d Mmddz dzs o tof
dzd Ftotso j dz sBtcOL tso Odzd j , 0] ydzdd ® s j dziz i
M j ydOdkdL qietse Odzdz' &3 Isj BOB d 1 tetsB dzj O CB.

4 . s tsSH

] sdtso dzsdz ftsMmilsdlsjdzd BdBdZdqtslsy € f tod dzC
1 O0dzd ud 4 Btsdzj J or Mo tsets HBRBHO &Gy jls
fOtcC 8o COBRBd, O OS] Yo jdOddw Btdjj tOf
9" MCts?2 L OdgWIstsmlist & .

5. swoisgw fsmilsdlsy dzj 2

Clstsls WOCIstste sy jIs HBMISOIsyYydes Mddz dzts o

COC fteOo d dzts, dd&zjels Bsdzj J] fosdzsy dlsj dz' dats§

dzd mM MORJdz COyjMmMlsoasds tOBBIST BdB dzdtslsj ¢

tcj HSC S Jfdgdnd BdBdZdtSIs ] € d dzj H Qzddsl iy D
e UOGC, dOfttgwjdwid {BG2ISO k f sMistsw dzdz” ~
L OtekzHdzdoh dafmw d Btsdjj o' MsCdj Gy  dzs
ZOzud dzdm!: dMmsOols! dzzy dzlz® Juzf BBy d § 020
fsfgjh Ok! MO22Al fijteor 2 tOL, It fjtco tsdzO

93



